Physics : Section-A (Q. No. 001 to 035)

1 The work functions of Caesium (Cs), Potassium
(K) and Sodium (Na) are 2.14¢eV, 2.30eV and
2.75 eV respectively. If incident electromagnetic
radiation has an incident energy of 2.20eV,
which of these photosensitive surfaces may emit

photoelectrons?
(1) Na only (2) Csonly
(3¥ Both Na and K (4) K only

9 The net magnetic flux through any closed surface

(2) Zero
(4) Infinity

meter G does not show any
rcuit shown, the value of Ris

is :
(1) Negative
€] Positive
3 If the galvanome
deflection in the ¢l
given by :

400€2

(2 2002

/w) 100Q

A2V, 60 W lamp is connected t0 the secondary
> qown transformer, whose primary 15
to ac mains of 220 V. Assuming the.
transformer to be ideal, what is the current in
the primary winding?
“) 037A
(3) 27A 4) 3.7A
) y 5 A full wave rectifier circuit consists of two p-n
m junction diodes, 2 centre-tapped transformer,
capacitor and a load resistance. Which of these
components remove the ac ripple from the
rectified output?
(1) Load resistance
2) A ce_:ntre-tapped transformer
() p-n junction diodes
(4) Capacitor

027A

6 é’ge a plane electromagnetic wave travelling in
space, the electric field component oscillates

sinusoidally at a frequency of 2.0x10'°Hz and

amplitude 48Vm~'. Then the amplitude of

oscillating magnetic field is : (S ight i
e (Speed of light in

() 16x10°T (2 1.6x107°T
3) 16x108T  (4) 16x107'T
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4) 16x107T
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(1) 1.6x107°T
(3) 1.6x1078T
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|
(5 @ (35)
e is placed at a angle of 30° [ 9

-1
of intensity 2x105NC "
1to4 N m. Calculate

o the dipole, if the

9  An electric dipol
with an electric field

Jt experiences torque equa
the magnitude of charge ©

dipole length is 2 cm.
(1) 2mC 2 §mC

& 6mC (4) 4mC

Let a wire be suspended from the ceiling (rigid
support) and stretched by a weight W attached
at its free end. The longitudinal stress at any
point of cross-sectional area 4 of the wire is :

(1) Zero £ 2w/4
@) W/4 @) w/24

In hydrogen spectrum, the shortest wavelength

in the Balmer series ;
: es i1s ). The shortes
wavelength in the Bracket series is : t

(1) 161
(2) 2a
& 4 4 9

The
‘empei:]tﬁferiﬂm of a gas is —50° C. To what |
Tms speed 1¢ gas should be heated so that the
(1) 23 KIS Increased by 3 times?
(3) 3 (2) 669° C

i (4) 3097 K

A fo
s_udde{:]tlba“ player is 'moving southward and
avoid Y turns eastward with the same speed 1
pla i Opponent. The force that acts on the

Yer while turning is :

along south-west <

3) along eastward «
4, long northward

) along north-east

10
10

11

12

12

13 13
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2) 8mC
@ 4 mC

2 fage T oA
(1) 2mC
3) 6 mC
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(2) Both Statement I and Statement H%

correct. :

(3) Both Statement I and Statement II Gate

incorrect. d

¢4) ‘Statement I is correct but Statement HL4i$

incorrect. -

1;9 If <ﬁ§gg =0 over a surface, then.: 0
5

(1) the electric field inside the surface G5y

necessarily uniform. s

18

19

14  The ratio of frequencies of fundame
harmonic produced by an open pipe to that
closed pipe having the same length is
a 3:1 ) 1:2 N

; Sr 2:1 (4) 1:3 ~d

15 The a:ngular acceleration of a body, moving al@

* the circumference of a circle, is :
(1) along the axis of rotation
2) along the radius, away from centre
(3) along the radius towards the centre
(4) along the tangent to its position 0
16 gk

(3)
(4)

third band must be : i
(1) Yellow (2) Red o]
3) Green (4) Orange %

Given below are two statements:

Sta_tement_l : Photovoltaic devices can conv§
optical radiation into electricity.

Statement II : Zener diode is designed to operite!
under reverse bias in breakdown region. (..}
In the light of the above statements, choose the:

most appropriate answer from the options given
below :

(1) Statement I is incorrect but StatementT¥
is correct.

the number of flux lines entering the surfacgy
must be equal to the number of flux lings

leaving it. 2 _ W
the magnitude of electric field on t;.wx

surface is constant. . !
all the charges must necessarily be inside

the surface. o0

Resistance of a carbon resistor determined frém)
colour codes is (22000i5%) Q. The colouﬂg

(2)

The magnetic energy stored in an inductorrof
inductance 4 pH carrying a current of 2 A is :
(1) 8pulJ @ 4u)
(3) 4ml (4) 8ml

14

15

16

17

18

19
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g &
i e LCR TS Q ¥ AT
R circuit, the inductance L | 20, C) 1 pF gRrde (K 100
20 Ina series L§ ceCis 1 pF and resistance ( a 3
10 mH, “pam?,equmy at which resonance ﬂ‘)’; gt o @ 159 raiﬂ;s
() 1.59KHZ A 159 rad/s i A

0
uite i - T
3) 159 ection of the current in | G freffEd ofxad F @ B

itude and di
21 tmefg}?ﬁing circuit 18 o 10V 5 v 1
y |-;;| o,
(A
D G i

7Q
from B to A through E

1) 15A
%2; 0.2 A from B to A through E
-3) 05A from A to B through E

“) -g- A from 4 to B through E

ini - duced 4)

22 The mimimum wavelength of X-rays procu= L 1 ' 3
by an electron accelerated through 2 potentia |

d?ﬁ'erence of ¥ volts is proportional to: tﬁ ez % T R & e B - it

| et X-PeTul Y e qCTee FFHIIIE ¥

Qo

()

a @
3 7 W 1 v? @

. . 1 1
23  The errors in the measurement which arise due _ 3) = (4)
to unpredictable fluctuations in temperature and |$» |4 N7

voltage supply are : % mwm@aﬁmaﬁwmﬁw

(1) Random errors
J2) Instrumental errors T o w %

(3) Personal errors {a) o
(4) Least count errors (1) aGhes el
24 For Young’s double slit experiment, two
statements are given below:
Statement I : If screen is moved away from the

b

I f sli i i e
plane of slits, angular separation of the fringes m % Paferdr s B fag A HIT foperad ¥

S

N

remains constant.
Statement II : If the monochromatic source is

replaced by another monochromatic source of ot e Fred T b i
larger wavelength, the angular separation of = el it fot : o7 BN
fringes decreasegst. ki TN = W q aa;ha ot iy
In the light of the above statements, choose the (1) % et A praedt @ @l
correct answer from the options given below: : e T ¥ gadt & LI o
(1) Statement I is false but Statement II is SqUE FuAl ® 4
true. St I qﬂ'iﬂHW%l
A2) Both Statement I and Statement 11 are |3 1) =@ ] @ ’ o 1L ¥
true. m aﬁﬁqﬂlﬂﬁﬂueﬂ{ﬂ%l 31
(3) Both Statement I and Statement 11 are r (2; ot w1 qF gl o,
false. : (3 aa ¥ Contd
(4) Statement 1 is true but Statement n is {j}] = : |
false. %



25
A bullet is fired

bullet i (

fr

. gm a gun at the speed of

The mas irection 30° above the
imum height attained by the

B=9.8ms™2, sin30°= 0.5) :

1
Ez%’ iggg " (2) 2800 m
" (4) 1000 m

26
0% when

AC A
arnot engine has an efficiency of 3
C. The

its :
= source is at a temperature 327°
mperature of the sink is :

(1) 200°C @ 27°C
@) 15°C 4) 100°C
27  The amount of energy mquiredtc‘fomnasoapl’”t"’]e
u i 15 neal'l.‘/

OfradiuSZt:mﬁ'omasoapSOIthf" i
_003Nm)

(surface tension of soap solution = 0:05,
) 50.1x1074] (2) 30.16x10 J
(3) 5.06x10741 (4) 3.01x1

adioactive substance is

28 The half life.of ar e
me, the activity ©

20 minutes. In how much ti
substance drops 10 (]—LJI}: of its initial value?
(2) 20 minutes

(1) 80 minutes
4) 60 minutes

‘(Gf 40 minutes
of a long spring when

F’ 29  The potential energy
‘T stretched by 2 cm is U. If the spring i stretched
: by 8 cm, potential energy stored in it will be °
(1) 16U (2) 2U
(3) 4U 4) 8U

30 The equivalent capacitance of the system shown

in the following circuit is :

3pF Lk 9%\

K
3pF — 5
A"_“——(_ L Lg%
L
l

25

26

27

28

29

30

3uF

(1) 9KF (2) 2yF
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e
Ae |I —y
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|
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g) 9 uF 2) 2pF
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31 A vehicle travels half the distance with speed
9 and the remain

ing distance with speed 290.
Its average speed is:

39
(1) T

(2)

w|e

4%
4 5

29
iy

32 The rag, of radius of gyration of a solid sphere
of mass As and radius R about its own axis to
the radius o

f gyration of the thin hollo‘w .sphere
of same mass and radius about its axis is
M 5:2 Q@) 3:5

3 Two bodies of mass m and 9 are placed at a
distance g The gravitational potential oq.the
line joining the bodies where the gravitational
field equals zero, will be (G = gravitational

Constant)
20 Gm 8Gm
TR @ - R

_12Gm

——

R

H

16 Gm
£) 5 Gm

@ -

34 The venturi-meter works on

(1) The Principle of

Perpendicular axes
L2y Huygen’s Princip

le
(3) Bernoyj)j’g principle

(4) The Principle of Paralle] axeg
35

31

32

33

35
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Physics : i
r y : Section-B (Q. No. 036 to 050) -
36 The radi . . @ F@1 & B
e radius of inner most orbit of hydrogen atom 36 EEE ] & ad & fad s
1 -11 . . q@™
1s“5.3><10 'm. What is the radius of third s3x107 m ¥
allowed orbit of hydrogen atom? a1 @ P ¥7 . QQ
: . . 2) 053A s
1) ama 2) 053A (1) 477A @ 03" 3
¥ o ° o - (4 ngA -
() 106A @) 159A () 106A ™ 0 “J
Oocq’{ 20 aan 80 CGI)
37  The resistance of platinum wire at 0°C is 2Q | 37 @™ & e e Tid (X =t
and 6.8 at 80°C. The temperature coefficient oC-!
of resistance of the wire is :
(1) 3x107} ol (@) 3¥107 og
3) 3aotect @ 3x10°2 °C” 38
38  Thenet impedance of circuit (as shown in figure)
will be: .
220V, 50 Hz
1y 259 o 1020
3) 159 @) 5459 -
- 39 Forthe following logic circuit, the truth table is:
X y
¥
r B .
() A BY @ 4 B7Y 4 81 B
0 0 0 0o 0 I 0o 0 9 . ? :
0o 1 0 0o 1 ! 0o 1 0 .
1 0.0 p o0 1 10 0 [ 9 g ;
;1 1 {1 1 0 P11 1 10 co
(3)6431' (4)6:051/ (3)3333)’ (4)3[1)3:’ N
0 0 1
0o 1 1 0o 1 0 0o 1 1 0o 1 0 >
| 0 1 ;0 1 {0 1 ;P 0 1 )
1 101 1 10 111 1 1 0 -
40 10 resistors, each of resistance R are conn_eqtcd 40 TS G gfrda R & 10 afre ® E fagd A
in series o a battery of emf E and negligible qq qq T e R B TP sl
internal resistance- Then those are connected In gofy w9 A Srer T ¥ = TN AR ¥
Parallel to the same battery, the current is T w9 A SiveT T &, @ T&-grmé‘l%l
x?crczliso%% 1 times. The value of mis: pEAAE ' ' %
V‘}Z} e '(ﬁg % : (1) 1000 2) 10 @
" . : (3) 100 @1 %
Calculate the maximunm acceleration of 2 moving R aﬂ
car soO that a _body lying on the floor of the car a @ ¢ o aHfad ST T &in
remains stationary. The coefficient of static F1 % ®A T @t T o R o ®1 T
friction between the body and the floor is 0.15 weof & o9 A w@ifes =ad7 RALE O'I&E
(g=_]0ms"2). (g=10m s2)l W
d) soms™ @) 12ms™ (1) 50ms™ 2) 12ms” -
=) g
(3) 150ms 4) 15ms” (3) 150ms™ 4) 15ms”
” [ Contd,..
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42

M -6
2 2
2 -—
3) X st M%ms
: j the surfacé of | 43
43 A satellite is orbiting Just above sl
the earth with period T. if d is the density A
ecarth and C is the aniversal constan
| L L
gravitation, the quantity 57 represents -
a T QT
3
3) 72 T ' .
s bent In 2 semi- | 44

conducting wire i r
from A to B as shown 1n figure.
field at point P for ste

s given by :
-

44 A very long
circular shape
The magnetic
configuration i

ady current

o 2|
[l -ﬂ pointed into the page
P-Of i :
2 K pointed into the page

Woi .
' -& pointed away from the page

Bl 2]
@ 7R ['*ﬂ pointed away from page

45 lfr:) th]e fl'l gure shown here, what is the equivalent
Aca ength of the combination of lenses
(Assume that all layers are thin)?

ﬂ!=l.5
S
] R
AR, Fi
i, W s
n2=l.6
(1) —50 cm (2) 40 cm
B3Y —40 cm (4) —100 cm
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46 T in ]
Wwo thin lenses are of same focal lengths (),

but :

Whg: :hls convex and the other one is concave.

the e ey are placed in contact with each other,
quivalent focal length of the combination

will be :
(1) Infinite (2) Zero
3) f/4 “4) f/2

a7 A w_ire carrying a current / along the positive
x-axis has length L. It is kept in 2 magnetic field

—_

B =.(2?+3} —4.3) T. The magnitude of the
magnetic force acting on the wire is :
1) BL @) 31L

(3) SBIL @ 5IL

48 A bullet from a gun is fired on 2 rectangular
wooden block with velocity u. When bullet
travels 24 cm through the block along 1ts length

u
horizontally, velocity of bullet becomes 73 Then
it further penetrates into the block in the same
direction before coming to rest exactly at the
- other end of the block. The total length of the

block is : |
(1) 30 cm (2) 27 cm
(3) 24cm (4). 28 cm
49 An electric dipole i placed as shown in the figure.
5cm P

0-__ ]

& — f —8

= —>%*
A Tk I
The electric potential (in 102 V) at point P due
to the dipole is ( Eﬁ=pennittivity of free space

8 3
o (@ o )
5 8
PECEC O
50 A horizontal bridge is built across a river. A

student standing on the bridge throws a small

ball vertically upwards with a velocity 4m s,

The ball strikes the water surface after 4s. The
height of bridge above water surface is

(Take g=10ms~2):
(1) 68m (2) 56m

(3) 60m (4) 64m
G6_Hindi+English ] 10
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49

AL _
:ﬂ;; gm & g@ wHrad Z&r el
pifpa 2 T
3) f14 @ I

3 i3] -ah T

¥
g.aahaaamqﬁm“'
(1) GBI 2 3L
3) G “4) 51IL

ﬁﬁﬁmlwﬁﬁ@ﬁmmm
cmgﬂﬁﬁt.’ﬁﬁﬂ
ﬁ%atﬁaﬁa{hﬁ&ﬂﬁﬁﬁﬂﬁm?@ﬁm

aﬁﬂzﬂ’f%lgﬁiﬁﬁm%‘
(1) 30 cm (2) 27 cm
(3) 24 cm (4) 28 cm

qasagafg@ﬁﬂﬁuzfﬁiﬂ 3 feE & T iy
p ¢ forge v 102V ¥) ¥ (gp=T T

u
ELl gﬁmtlmw

Fgasiea a0 _L=K):

4n €
5cm_____p
0
*— 4 — ®
— g€ > € >+
9 3cm 3cm 9

(1) (%] aK @) [38-] oK
o (3% © (£)ax

@ﬂﬂqﬁmgﬁmwilgﬂ@
TF B 4ms’]%aﬂ%@@ﬁﬁﬁﬁm
mﬁaﬁtmtlhmﬂzmﬁﬁﬂﬂj

(g=10m 2 i) -
(1) 683m (2) 56m
(3) 60m (4) 64m
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H A
[ Chemistry : Section-A (Q. No. 051 to 089 | JUETE L a
? : 1
51  Taking stability as the factor, which one of the | 51 gy FT g ¥ 7 @ TiCly = Tllgl '
following represents correct relationship? p ™= o Q)] Alct > AF3
(1) TH>TH, (2 TIC>TC @) Inl3 7 17
@ Wiy > Il (@) AICI>AICh e 3 T B T
s ; i ction : | 52 et
52 Identify the product in the following re& i
N2Cl e
2 Br
() CuPal i
(i) Cu,Bry /HBr M_’
(i) Mg/dry ether s product (iii) H2O
(iiii) H,0
oH Ok
OH OH
@)
(1) N @ % Q @
Br Br
MgBr MgBr
P @ @) 3) @ @)
I — . S
CH=CH-CH-CH, CH,
! CH=CH-CH-CH, CH
X - l 2 3
X
is an example of .
A vinylic halide (2) benzylic halide F T TEAE -
(3 aryl halide (4) allylic halide (1) =i tEs () Wa‘“"%'“im
54 In Lassai ) (4)ﬂﬁl’lﬁeﬁfwﬁ
ssaigne’s extract of an organic compound, - i Presd '
both nitrogen and sulphur are present, which | 54 et A ﬁ%;‘fﬁ 3 g Prefrad E e R
gives blood red colour with Fe3* due to the e ¥ < r G 2 ¥
formation of - w B i 2+ -
N
(1) [Fe(son)[” o [ ], %0
CN)gJs " %72
: @ Fes[Fe(Ceds
L) Fe, [.Fe(CN)(JL xH,0 ) NaSCN 4
(3) NaSCN N).NOS|
e (4) [FB(CN)S ] [ COntd'"
(4) [Fe(cN) Nos]

11
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Given below are two statements : one is labelled

as Assertion A and the other is labelled as

Reason R :

Assertion A : A reaction can have zero activation

energy.

Reasons R : The minimum extra amount of

energy absorbed by reactant molecules so that

their energy becomes equal to threshold value,

is called activation energy.

In the light of the above statements, choose the

coprect answer from the options given below :

) A is false but R is true.

(2) Both A and R are true and R is the correct
explanation of A.

£ Both A and R are true and R is NOT the
correct explanation of A.

(4) A is true but R is false.

The right option for the mass of CO, produced
by heating 20 g of 20% pure limestone is
(Atomic mass of Ca = 40)

[CaCO3——m—K—)-CaO+C02J :
(1) 132g (2) 112¢g
3 176 ¢ 4) 264g

Complete the following reaction :
OH
o —HEN
CN
[A] [B]

conc. H2504
A

~[C]
[C] is

N5 s) QCOOH
) O-OH
3) O——COOH
1) O—CHO

12

55

56

57

'C>:O HCN

aaaa;aqfaqmmﬁaer‘;ﬁm”aﬂ?m
. R’ fafea fear TED
fmewﬂWﬁ*@mwﬁ

¥
TR ¢ e o T SR S

e Gt & AT R S STl e e 3

gl '
(3) A ot R @ &, 9ig R, A & §&
@R
4) A @t 9ig R @A ¥

20% J& T I % 20 g B TH B ¥ Ig
CO, % z==a™ & fog & fawed ¥ : (Ca &t goam
FEAE =40 ¥1)

|[caco, 120K , co0., co, |

(M 2 1l12g

(3) 4) 264¢g

Freifirfia e = g iR

132¢g
1.76 g

[A]

[C] % -

O
£ Q— CooH
S

- T
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mi;ﬁéﬂaﬁﬁmm%t '
ﬁmu:mﬂﬁﬁmmws‘ﬁs'ﬂzﬁ
?ﬁmm%w%iﬁﬁ“@ﬁ‘m

Given below are two statements : -
Statement I : A unit formed by the attachm

i as
of a base to 1" position of sugar is known
nucleoside

Statement II : When nucleoside is linked to
Phosphorous acid at 5'-position of sugar moiety,

o ¥ )
- St R T HUA B st o A R e e
Wwe get nucleotide. » ‘
In the light of the above statements, choose t _ 3 & wh =R P
correct answer from the options given below :

(1) Statement I is false but Statement II is true.
+2)” Both Statement I and Statement II are true.

(3) Both Statement I and Statement I are false.

(1) s I oEd ¥ aig &= I 9 ¥\
) mmlmmmnﬁ.wtt
3) s 1 AT+ I 2 I ¥\

i I|a ¥
(4) Statement I is true but Statement II is false. @ smIga g w1
$ : T TE B
59 is formed by two elements A and At A T A X B 3 == gan
g.c'?;lxl;:i;it oll;mform: cubic close packed 5 ?;?m e F@Rﬂa RECEIE R & R TN T T
structure and atoms of A occupy 1/3 of 173 wgereeb Rl o wod ¥ 1 o s &g
tetrahedral voids. If the formula of the compound ABy B @ el A A x+y w ww B
is AxBy, then the value of x +y is in option X2y
I 2 wy' s M 2 @) 5
Q) 4 @) 3 3) 4 @) 3
" 60 The stability of Cy2+ ig more than Cu* salts in | 60 ot T § o2t A B T Cu" wauy
aqueous solution due to - q Frafefan % D B T
‘g;’ :emnd i.oni".sation ;ntlhalpy. (1) Ttw T A
Irst ionisation entha Py. 2 -
3) enthalpy of atomization, (3) ki T
(4) hydration energy, Q) wwm T“r%ﬁ
() v g
61 Match List- | with List - Iy -
List - | List - 61 @-IW@-Hﬁimuﬁm’qiﬁﬁm
A. Coke L Carbon atoms are ™-1 ™-0
/ 3 5
SP” hybridiseq_ A. ! T
B. Diamong /11 Used as a ¢ o : amh_ -
F M lb‘asaw sp® Walta B ¥
ubricant B. ¥ . % ©es % =
" Pl | T Ty N e Y
reducing agent | & Wi
D. ; C. gn_qrﬂq . suaEs
Graphit¢, IV, Cage like FuEm fear o 3
molecules :
Choose the Correct : D. Iwge V. R o .
ilen below | answer from the Options Y R o el ¥ A W s gh
(]) A-IH, B-]\l} C..], D-11 () _A-HL B-1V, C-1, [I))-]III[
@D AL BV, ¢ pogy @ AT B, O DL
“O®) AN, By oy D-III | (3) AV, B, CL,
; A-INL, B, C-1V, D11

=11
(4) AL, B, CIV, D it



62  Given below are two statements : one is labelled
as Assertion A and the other is labelled as

Reason R :
Assertion A : Helium is used to dilute oxygen

in diving apparatus.

Reasons R : Helium has high solubility in O,.
In the light of the above statements, choose the
correct answer from the options given below :

(1) A is false but R is true.
(2) Both A and R are true and R is the correct

explanation of A.
J3) Both A and R are true and R is NOT the
correct explanation of A.
(4) A is true but R is false.

63  Some tranquilizers are listed below. Which one
from the following belongs to barbiturates?
(1) Veronal (2) Chlordiazepoxide

(3Y Meprobamate (4) Valium

64  Which of the following statements are NOT

correct?
A. Hydrogen is used to reduce heavy metal

oxides to metals.
Heavy water is used to study reaction

B.
- mechanism.

C. Hydrogen is used to make saturated fats
D

from oils.
The H-H bond dissociation enthalpy is

lowest as compared to a single bond
between two atoms of any element.
E. Hydrogen reduces oxides of metals that are
more active than iron.
Choose the most appropriate answer from the
options given below :
() A,B,Conly (& B, C, D, E only
3 B, D only (4) D, E only

65  For a certain reaction, the rate = k[A]2 [B], when
the initial concentration of A is tripled keeping
concentration of B constant, the initial rate would
(1Y increase by a factor of three. 5 ¥
(2) decrease by a factor of nine. - X
(' increase by a factor of six.~
(4) increase by a factor of nine.

66  Which one is an example of heterogenous
catalysis?

(1) Combination between dinitrogen and
dihydrogen to form ammonia in the
presence of finely divided iron.

(2) Oxidation of sulphur dioxide into sulphur
trioxide in the presence of oxides of nitrogen.

(3) Hydrolysis of sugar catalysed by H* ions.

(9 Decomposition of ozone in presence of
nitrogen monoxide.

62

63

64

65

G6_Hindi+English | 14

A2 & wu g M ¥ | A A o g
@ ‘@rw R’ fafea fear man &) o
st A : TArErd & ST F e
Wﬁﬁﬁﬁ*h%ﬁmm?
mR:ﬁfﬁWﬂﬁOzﬁﬁﬁﬁqﬁ]m%'
wﬁqwmﬂ%mﬁr%%&qwﬁ%
¥ ¥ wé gav ghu:

(1) A ogd & 9ig R &9 ?1

() AaﬂrRa‘H‘r’w%aﬁTR,Az&gﬁ%

(4
3) A?Rﬁ'ﬂﬂ%;ﬁ&.ﬁaﬁﬁ%
& 2 :
(4) A wa ¥ aig R o@d 2
I 75 gsTiod qEES BT T T ¥
arﬁaj(?&w,\ & e 37 R
(1) 0= (2) TREESwRE
(3) AW (4) dofem
Prefafaa & & BF- B9 T8 T &7
1 TTERT W UG SIS &) ey
¥ amqfaa @ & fog e s #)
T T &1 SuarT eitfsear fmatafy & sy
% fog fepar wmar 21
TIESIS &I 999N AWl ¥ Y 91 F T
¥ fora fepan o 2
o T % o TS & S UHA and
g % H-H omey fadem géed <pm
4
E. sREWH O ¥ ot fransie uga &
JieaTsel & omfad HT ¢
9 fog T faeed ¥ @ wEd Suged oW gy
(1) %@ A, B,C (2) %aw B, C, D, E
(3) %aw@ B, D (4) ¥aw D, E

Rt Riftree. arffiean & forg,
am = k[A]’[B] %1 W B @ wigan & Rt @
8T A 3 T tman A T B a8, i

O 0 w »

328

Cq -

(1) @ & I & 96 Sl
(2) it & OB F g A
(3) B & T T I Y
(4) T & T FW TG A

Prefirfad § & @iv—ar Ryl ser @ ST

37
(1) i gt o & safafy ot T
%ﬁqmﬂwaﬂrw@mﬁiﬁw“
aufef ¥ T



67  Which one of the following statements is
correct?

1%9]
@)
(3)
4)

Mg plays roles in neuromuscular function
and interneuronal transmission, .

The daily requirement of Mg and Ca in the
human body is estimated to be (.2 - 03 g.
All enzymes that utilise ATP in phosphate
transfer require Ca as the cofactor.

The bone in human body is an inert and
unchanging substance,

3) 32

69  The element €xpected to form largest ion to
achieve the pe

arest noble gas configuration is :
{1) Na 2) O '
M3 F 4 N
70 The correct order of epe

rgies of molecular
orbitals of N, m

olecule, is -

(1) ols<c®Is<g25< ot 2s <'(rr2px =n2py)<
(x'sz =x' 2py)<o 2p,<c* 2p,

2) ol5<0’ Is<gogc ot =

2) <02s<g Zs<(u2px n2py)<

n Homoleptje c

Complexes g -
W Triamminetriaquachromi'tirn (IIT) chloride
) Potassium trioxalatoalumihate (1)
®) Diamminechioridonirito - N - platinum (i1)
(4) Pentaamminecarbonatocobalt (111) chloride
Gﬁ__Hindi+Eng1ish 1

om'plex from the following

67

68

69

71

15

Pt Foi & 4 P v 37

(1) Mg dtqibme vsha sdyme s
St S ¥ v frw ¥

(2) W= i ¥ Mg @R Ca &1 2 srasaean
02-03 g argmiva & &,

(3) T U W widhe i ¥ ATP
S B ¥, ¥ R

4) waﬁﬁ@waﬁm

M araad=ste
T ¥

TS & WY T By
AfE e B 2,
(1. 18
3) 32

W W atg
Tﬂ‘hﬁffaﬂm'{(g)i‘:
2) 16

“4) 30

(1) ols<s* <o2s<¢* 25“(“21’:« ‘-"1't2py)<

(n* 2px = n'2py) S 2Pz < g* 2Pz

(T‘sz =7 2py) < (n*sz = n'2py) <c" 2p,

@) cis<g* Is<o2s<c"2s<o2p, <
* = ‘2
c* 2p, <(1:2px zany)<(n 2p, =™ P,.)

P el & @ SR dg ¥
(1 ke e
ZrEEAZEEa




72

73

74

Intermolecular forces are forces of attraction ar.alc]l
repulsion between interacting particles that wi
-include :

A dipole - dipole forces,

B. dipole - induced dipole forces.
C.  hydrogen bonding.

D.

E. dispersion forces.

covalent bonding.

Choose the most appropriate answer from the
options given below :

O A, C, D, E are correct,
(2) B, C, D, E are correct.

B A, B, C, D are correct.

(4) A, B,C,E are correct.

The number of & bonds, bonds and lone pair
of electrons in pyridine, respectively are -

(1)

12,21
(3) 12,3,0

@2 11,20
(4) 11,3,1

Select the correct statements from the
following :

A. Atoms of all elements are composed of two

fundamental particles.
B. The mass of the electron is
9.10939 x 10-31 kg,

All the isotopes of a given element show
same chemical properties,

Protons and electrons are collectively
known as nucleons.

E. Dalton’s atomic theory, regarded the atom
as an ultimate particle of matter.

Choose the correct answer from
given below -

) B,Cand E only
&) ABandC only
) C,Dand E only
(4) AandE only

the options

Gﬁ__Hindi+English ]
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72

73

74

mmﬂwmmﬁimﬂ%m
mﬁwaﬂ'tuﬁmh&;%aﬁ
A

fe-y7 - feym am
ﬁ;—ga—ﬁﬂa&:—gaaa
FTREIO arae
A araey

E. weiify qq

R T et ¥ 3
(1) A C,D Ewdg
(2) B,C, D, Ewdr &
() A,B,C, Duf ¥
(4) A, B,C, Eq# ¥

ﬁ%th{?&&

A.
B.
C.
D.

T o

Rt &, I, 1 amEny gy TRH
TER I Y e AT, &

(1) 12,2, 1 ) 11,2, 0
() 12,3, 0 @ 11,3, 1

ﬁw&f@ﬁrﬁuﬂmﬁwmaﬁﬁql
A. waﬁ%mawwmaﬁsﬁﬁ

B. oM &1 gemm 9.10939 x [¢-3! kg B
gl

E. ﬁm%m%ﬁ%maﬂm%qﬁ
T & B A T

:ﬁ%ﬁqwﬁlﬁq‘fﬁéﬂamgﬁm:
(1) %@ B, C ok E

(2) %= A, B aix C

() %=@ C, D & E

4) %a7 A s E

[ Contd.



15 Identify product (A) in the following reaction -

Zn-He |
s 28 v

conc. HC| (A)+2H20
M CH3
CH3
OH
-3y
OH

76

AssertionA: In €quation A G
of AG depends on p,
Reasopg R:

=~ nFEc ell> Value

statements, choose the
Wer from the Options given below :
IS trye,
R are trye a
€xplanatiop of A,
) Both A and R are trye and R
Correct xplanation of A_
(4) A s true but R is fajse.

nd R is the correct

is NOT the

Gﬁ_HindHEnglish 1
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76

17

Fresfen s ¥ s (A) @ v

PR 2 By - ot & o 4G @@
AR Torend 3

ferameat

R g et & ome e, i feg e R

¥ ¥ o g

Cr &M Y UBWY. ot

@ Aok R aheR, E
(4 ; ﬁq-(‘-gR,A?ﬁaﬁ '

3) AdRRINTAE,

; T ¥ g R o®d &l dies

(4) Awa ¥ T o




77

(M

) sy

2

Which amongst the following options is correct
graphical representation of Boyle’s Law?

v
N 1 vz
V3

V<V, <V3

a4

o —>
(=
(9% )
V.
5
v
-~

G6_Hindi+English
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ow —>

)

o —>

@)

©)

©—>

4)

18

T, >T, >T,
T.
T,
~T
L— >
K

Prtiiaa & & B ataw & P & 78 g,
g &7
b i v,
V3
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YoM VS afgHa e
number of | 78 fisfra ﬂm em de (M) L
78  The relation between ng, (g = o

. mber Nm = Qtﬂﬂ t.
permissible values of magnetic quantum nt dean) ¥ a9 el
(m)) for a given value of azimuthal quantum 2 ) I=_m§_—
number (/), is ) nm.—.-!+ 4
n -+ =2I" +
M n,=1+2 @ I=="5— _on #1 B Tm
" . @) [=%"m 2 areEsat
2 IECRN
(B) I=2n_+1 (4 ny=2"+I soc wt KCI 250C uT forerad I
m ) ci 79 2 — cm—-l % T o T A %
79  The conductivity of centimolar solution ?f Kce 0.0210 mo g 60 ohm | A W—l
at 25°C is 0.0210 ohm~! cm™! and the resistanc A« B 1 @) 13400
of the cell containing the solution at 25 C is (1) 334 ‘-"1:1_] (4) 126 cm
(610) oI;n;.4T:::_\Iralue of( ;;II ]cgl‘;St;:‘t_]'S = 3) 328 ¢ w e (P)
' (37 328 cm! 4) 126 cm™! go friiam Sirail forare. TS
27 “ % qeanTg!

80  Consider the following reaction and identify the
product (P). : iy~ (l:H ) (l:H T _HBr_, sae (P)
CH, - CH - CH - CH,

] HB , product (P) A
CH; OH — > Prodwe 3 - A -2 — A
3 — Methylbutan— 2 —ol
CH, - ‘
| (1) CH;-C-CH,Br
(1 CHJ—(JJ—CHZBr o

CH, iy
i Br-

@ cH, —é—CHz - CH, 2) CH, ‘(‘3—‘3“2 —CHj
b, ch,

(3) CH;CH=CH-CH, (3) CH;CH=CH-CH,
My CH3-(|3H-(!?H—CH3 (4) CH,-CH-CH-CH,
CH3 Bl’ ‘

CH3 Br

81  Which amon

polymerizati

gst the following molecules on | 81 Prafefes ¥ ¥ @wa qgeET FO T "

on produces neoprene? S BT ?
CH,

] CH,
1) HC=
B By =C-CH=cH,

'|
(1) H,c=C-CH=CH:

&2 H2C=CH*CH=CH2 ) cht=cH—CH$CH2
Cl Cl
(3) H ] lc___cﬁﬁCHQ
£*=C-CH=cH, @ W77 . _cH
(4) H,C=CH-Cc=CHy @ H2 gl

Gﬁ_ﬁﬂindHEngﬁsh \ 19




82 WM aa

82
Amo.ngst the following, the total number of pe
species NOT having eight electrons aroun q‘(‘";;l Ny pCl
central atom in its outer most shell, is T & é eClys cCly 73
] ]
NH, AICl,, BeCl,, CCly, PCl; : NHy A7 @ 4
(nH 1 2 3 (1) ! ) 4
JS37 2 @) 4 @ ' e
T A LA
Ly -1 T 3
83  Amongst the given options which of t_he 83 f aET Fal ¥?
following molecules / ion acts as Lewis acid? ate e 2 NH;
(1) OH- (2) NH; 1 0 (4) BF;
(3) H,0 (4) BF; (3) 72
L it aasaﬂfaqnq%l@“”“m""”@“iﬂ?
84  Given below are two statements : one is labelleC” | g4 e R’ fafed fpar T d
as Assertion A and the other S Jabelled a5 AEC o e T it ¥ gy
Reason R : _ s A &?IT%‘-“} S
Assertion A : Metallic sodium dissolves 1N llqu{d el S T1H foead ’ '
ammonia giving 3 deep blue solutio™ which 15 o R ¢ T S arEe & I & T
paramagnetic. . e x|
Reasons R : The d.?:ep blue solution is due to _ W p— - TS fea T -
the formation of amide- | HIT I ‘
In the light of the above statements, choOs€ the F 4 ag 9ul qfd :
correct answer from the options given below (1) A agd & 1 R @4 ¥
(1) AisfalsebutRistrue. (2)'AaﬂTRaﬁW%m&Aa&wm
(2) Both A and R are true and R is the correct 3
explanation of A. ol
A %I §@
G) Both A and R are true but R is NOT the 3) A e R & 7 &, TR, Rl
correct explanation of A. i &
(4) Awa ¥ (g R A 4

(4) A is true but R is false.

85  Which of the following reactions will NOT give | 85
e A @ A 7

primary amine as the product?

1) CH,CONH, —2-4%4 ,
(1) CH;CONH, —h 0w Prodit (1) CH,CONH 1)
3 2 (i)H;08®
Br, / KOH
(2) CH; CONH, —2———> Product 5 Br, / KOH
L.
i (2) CH; CONH, —2—— q©
3) H3CNWPFO£!UCI —
(3) CH,CN (i) LiAlH 4
. i GH08 oo
) CH:;NCT}%—O—ES—)PTOCIUCI
(4) CH,NC —WLAHy oo
(i H30 @

6_Hindi+English ] 20
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[ Chemistry : Section-B (Q. No. 086 to 100) |
86

Which of the following statements are
INCORRECT?

86
A.

Frfeien ¥ ¥ A o o @ 20

A B ¥ e o T ad MO
HFEEE ST ¥ N ot o

B. T GON % W o S o et S
| T, SRS ¥ Se,05 ¥ Min, 0, & wray By
i1l

All the transition metals except scandium

form MO oxides which are ionic.

B. The highest oxidation number
corresponding to the group number in
transition metal oxides is attained in 8¢,0,
to Mn,0,. C. V038 V0,4 V04t st w1 ux =

C. Basic character increases from V,0; to WE @ ¥
V204 to V205 )

D.  V,0,dissolves in acids to give ‘v'()i_ salts.

E. CrO is basic but Cr,0; is amphoteric.

Choose the correct answer from the options

given below :

(1) B and C only

(3) B and D only

D. V0, o ¥ ge@t VO3 w&w T ¥
E. CrO @l ¥ waf% Cr,0, swamd X
A Ry o faeedt ¥ ¥ w8 waT gfc

(1) FTT@ BAXC (2) ¥waw AR E
B) ¥aT@ B AT D (4) F=w C ox D

Frataiaa sitalem ot R SR

QCHZ-OQ%—)A-PB

TR A T B uweiiia

m A_=©—(:H3ﬁrz3=®—1

@) A=®—CH3@RB=®—0H
3) A=®Cﬁpﬂ@m=®l
(4) A=®7€H216?R‘B=©'OH

(2) A and E only
(4) C and D only
Consider the following reaction -

@—cﬁz-o @ —}%)A-I-B

Identify products A and B.

(1) A=®-CH3 diid B= Ql
2) A=QCH3 and B=®0H

@CHon andB= Ql
“4) AZQCHz‘l and B=®—0H

87
87

(3) A=

& e afadd S
88  Which amongst the following options is the | 88 Fr=faiga famed o %ﬁsﬁ;ﬁtﬂ ey ¥7
correct relation between change in enthalpy and gt Sl arERE
change in internal energy? (1) AH+AU=AnR
(2) AH=AU - AngRT (3) AH= AU + Angl::‘r
(3) AH=AU+An RT (4) AH-AU=-4" ﬁ@mww
(4) AH - AU =— AnRT oo 1 T T o ¥
) . 1 89 C o fparl Skl _L
89  What fraction of one.edge centred octahedra T " @) 3
void lies in one unit cell of fcc? W 3 1
. , i ) 3 [ Coll‘d"'
2 2) = 1
1 12 @ 3 3 3
1
3) % @ 3

i
G6_Hindi+English |




t;:m leads to decreage
o . € water bodj,

the light of the above statements, c]cmjgf]:esi the
options given below -

Statement [ s incorrect byt Statement 11

is true,

Both Statement |
Both Statement
false.

Statement I is correct but Statement I1 is
false.

(2)
3)

4

and Statement IT are true.
I and Statement 11 are

' 91  Which amongst the following will be most

readily dehydrated under acidic conditions ?

NO,
OH
NO,
CH,
H

2

At

OH OH

N

(&))]
2

P2 H
4) OH
OH
Match List - I with List- II :
List - I (Oxoacids List - II (Bonds)
of Sulphur)
Peroxodisul- L
phuric acid

Sulphuric acid
Pyrosulphuric

92

Two S-OH, Four S=0,
One S-O-S
II. Two S-OH, One S=0
Ill. Two S-OH, Four S=0,
acid One S-O-0-8

D. Sulphurous acid 1V. Two S-OH, Two S=O
' Choose the correct answer from the options

given below :

(1) A-II, B-1V, C-II, D-1

(2) A-l, B-llI, C-II, D-1IV

(3) A-llL, B-1V, C-1, D-lI

(4) A-l, B-lIL, C-1V, D-ll

A.

B.
C.

G6_Hindi+English ] 22

91

92

zhﬂ'ﬁiﬁﬂ?ﬁ'qfrq%:
ml:mmmmawm
T 1L : g 3 - A ot
gea ¥ hL
I fig o wuA F emur T AR

¥ § @ sut g : &th"‘
(1) @ I 9|9 & oig w97 M 3w 3,
(2) = 1 3 w9 I 30 & ¥

(3) F I ol w0 9 ormw ¥

@) Fm 1wa ¥ alg F9 1 s 3

frfifan & & B-—w vt Wi 5,
s srarh A Proff S ? ™

@ CH,

OH OH

® nc
H

H
4) )\‘/\on

OH

g - I gl - I & |y faee e
-1 & -1
(wwwt ¥ (ama)
HTFITA)

A. UiEESE- L.
g

B. avi® o

C. UEETRIND

A

.D_

e
(1)
(2)
3)
4

@ S-OH, g $=0,
% S-0-S
I & S-OH, @ 50
Il & S-OH, T $=0;
w S-0-0-8

aewr@ o= IV. @ S-OH, & 50
o T Rt & & Wl T P

A-IlL, B-1V, C-I1, D-I

A-l, B-III, C-I1, DIV

A-llL, B-1V, C-, D-II

A-l, B-IIL, C-IV, D-II

[ Con

m

ify the m
Identify ct

following red

3

94

9

)

3

<
X

Identify the
following s

CH,CHO

). C,

95  The re

blast

temper
(D C
(2)
3) 1
@)

e Gﬁ_Hindi-

g/




93 Ident;
Ntify the major product obtained in the

f‘ollowing reaction :

o1 " 2{_Ag(N“3) z—y N

o
O 3~0H'_é-—+ g@:‘ 3T v :
3 *on__é—a‘ major product oH Ok
2
1 ox
) @ W
(05 CcOO™
(ololom o

: 0 o 9
@)
(elelo

94 Iclentif::/ the final product [D] obtained in the w1 qEEtTg\
following sequence of reactions.

i) LiAIH4 H,S04
CH,CHO ¢ H;oi »[A]—24—[B]

Br
o w0 S

Na/dry ether [D] Na/ g3
(1) HC=C® Na*

e [c]

(1) HC =C® Na*

(4) C,H,, (@) CaHyo . 000 K
5 el
95  The reaction that does NOT take place in 2a 95 AELE ¥ -as‘é’:: :‘:’:ﬁ qﬁﬁ.{ﬂﬁa
blast furnace between 900 K to 1500 K o
temperature range during extraction of iron is : % caO + Si02 0sSIR C
(1) CaO +Si0, - CaSiO, e : G+ 0 e 2
(2) Fe,0,+CO —>2Fe0 +CO, @ 2 ; po+ €72 d
o) e 20 cort

(3) FeO+CO— Fe+CO, @ c+CO2
(4) C+CO,—>2CO

G6_Hindi+English
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100
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96 Pumice stone is an example of -

(1) foam (2) sol
(3) gel (4) solid sol

Which complex compound js most stable?
(1) [co(nm,), ] (s0,)

@ [co(NHy), (H,0) E‘r](Nos)2

@ [Co(N;), (Noy), ]

(4) [Cocl, (en), | No,

97

Consider the following Compounds/species -

Q

« [
e W
000

The number of compounds/species which obey
Huckel’s rule is

1M s '(2) 4

3) 6 4) 2

The equilibrium concentrations of the species
in the reaction A+B=C+D are 2, 3, 10 and

6 mol L1, respectively at 300 K. AG® for the

reaction is (R =2 cal / mol K)
(1) —13.73 cal (2) 1372.60 cal

3) -13726 cal ~ (4) —1381.80 cal
On balancing the given redox reaction,

aCr,02" +b SO3" (ag) + ¢ H* (aq) —»
2aCr** (aq) + bSO? (aq) +E H,0(?¢)

the coefficients a, b and ¢ are found to be,
respectively -
(1) 81,3
(3) 3,8, 1

(2)
(4)

24

96

97

98

100

it gt sErET ¥ P
(1) ®m @ (2) s

(3) o W (4) 39§ o
-9 e A TEw AUS W ¥

(1) [co(NH,), | s0,),
@ [co(NHy), (H,0)Br|(No,),
(3) [CO(NH3)3(NO3)3]

) [cocl, (en), |NO,

ﬁwﬁrltamﬁaﬁf@aﬂﬁwﬁmﬁhq:

6

[ | iv. A
20
Q00

T ThW Fr B we W A A iy
& e

(1) s 2 4

3) 6 @ 2

300 K ut sifhftear A+B=C+D & aiiska &
QTTERAT WK HE: 2, 3, 10 3K 6 mol L3

aifHfesar & frg AG® ¥: (R =2 cal / mol K)
(1) =13.73 cal (2) 1372.60 cal
(3) —13726 cal  (4) —1381.80 cal

Q¢ srvEday sifhiear B dgi SO T e
a, b 3T ¢ Hw: ww T E:

aCr,03™ +bS02~(aq) + c H* (aq) -

iii.

2a Cr** (aq) + bSO~ (aq) + -;- H,0(?)

2) 1,3,8

(1) 81,3
@ 1,83

3) 3,81
[ Contd~



A5 ASSTITT
: ophy1€ L = L | e d
::::::o:A . The first stage :";,g:::e:“fgc- ﬁgﬁﬁﬁ‘; faad #,
ife cvele of moss is prote ) i 1 from :
e 4 f I-t . pmlom‘:rﬂﬂ dcvclops d rectly Mﬁﬂq sal g‘:ﬂ'm R g’aﬂ ¥ Azﬁt ‘a‘g ’an'@:‘
i .II Lduced in capsule: oose the A @ ) g A
gpores pr¢ ents. © ) a—:—ﬂ'ﬂ-\ﬂ
Jight of the abOve statem® " tions V" A SR P e
e ‘sropr'i te ansW m the 0P @ zl aa ¥ g R ~
most apP .
below R IS correc (3) A e R M
) Aisnotcomc‘b"[ and R 18 the a5t ¥ Gﬂﬁa%t
Both A and R ar¢ correct :a‘cﬂ R
& correct explanation OfA'b tRiS NOT the 4) S T &
_,(P Bazrl:hAaﬂdR‘""e‘:c'ﬂ'c':t J H@ébﬁ%ﬁ qaAa el
correct explanation s orrect 102 @@ﬁm’ ' : 03
4) Aiscon.ectbu(RlS"O‘C it ﬁmﬁﬂﬁwﬁﬂ
ith ]odine (])
102 Cellulose does not form blue GHIE Y e ¥1 %\
becaus® hen iodine reacts with it. ) % I ; m *\
wn W ;
(y It breakc's do 9 (3) T®T® Qgﬁi.@ﬂ el o ooy
(2) It is a disaccharic® (a) @ e e T - ; ST
3) Itisa helical molecule- ;e ond 2 THEHT =& @ wwal
It does not contain cc?mplexl t: b
hence cannot hold jodine molec 1 Ges % AT
103 & AT T ‘?Nﬁ;t%?;:;ﬁ v
103 Which micronutrient is required for splitting of o &l & frasT o) T
water molecule during photosynthests? (1) dEn ) .
(1) copper (2) manganese - 3) SR 4)
(3) molybdenum 4) ,magnesium v
104 o SR N Tl
104 Expressed Sequence Tags (ESTs) refers to (1) F° Al 5w ¥
(1) Certain important expressed genes. @) A S, SIS N ga ¥l
(2). All genes that are expressed as RNA. % g w A par ot
(3) All genes that are expressed as proteins. 3) q o & @nmﬁ' o
(4) All genes whether expressed OfF 4) 4% a1 7
a8 fack o a S
unexpressed. &
¥ g
PR Y s
; - agATe A g
105 The thickness of ozone in a column of air in the | 105 e & - _ * w | cont!
atmosphere is measured in terms of = M e
nits 3

(1) Kilobase (2) » Dobson U



106  Given below are two stat
. em . .
aRS Assertion A and the ;:TI:S i e
Aeason R: er is labelled as
ssertion A : ATP i
%QIYCOIysis. I8 Sl RSt
eason R : First ATP i
= 1s used in co i
gAI}I{;O'S:e into glucose-6-phosphate andn::crg:c?
- 1S us.ed in conversion of fructose-6-
ll) osph?,te into fructose-1-6-diphosphate.
n the light of the above statements, choose the
correct answer from the options given below
(1) A is false but R is true.
Both A and R are true and R is the correct
explanation of A.
Both A and R are true but R is NOT the
correct explanation of A.

4 A is true but R is false.

sure to UV radiation,
bromide will shoW

DNA stained

Upon expo
with ethidium
(1) . Bright orange colour
(2) Bright red colour

3) Bright blue colour
(4) Bright yellow colour

107

which on€ is

tet’, .
driving

<The Evil Quar
considered the most important cause
extinction of species?
Co-extinctions
(2). Habitat Joss an
(3) Over exploitation
(4) Alien species invasions

followin
of centromere?
2) Metaphase I
) Anaphase 11

Among

entation
for economic gain

), Which of the g stages of meiosis
involves division
(1) Telophase x
(3> Metaphase 11

one promotes internode/petiole

deep water rice?
(2) GAjz
A Ethylene

110 Which horm
elongation in
(1) 2,4D
(3) Kinetin
between gene pairs
measure of the
their position on
first time by

ncy of recombination
e chromosome as 2

between genes to map
s used for the

111 Freque
on sam
distance
chromosome, wa
(1) Henking
(2) Thomas Hunt Morgan

[ 106

107

108

109

110

111

(3) Sutton and Boveri
4)« Alfred Sturtevant-

26
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ﬁﬂamﬁanatmfﬁmm“*m
T RE: ;
%W?W‘Wf‘““w
2 gt # A ! s
T 6 |-G SR
W:ﬁ;%ﬂﬁﬁ’”ﬂw*m
et F1
e & I3
& :mnaﬂ’iaﬂ%@"“‘w‘“ﬁm
&l '
) AR m%mR,Aﬁmﬁm
= ¥ o Bl
@) AT awg R |
aﬂqﬁgmiﬁ'ﬁﬁ.‘qﬂ.ﬂ.ﬂﬁgﬁlﬁﬁm
mﬁﬂwﬁmﬁaﬂ
0 ey e T
) aaren @ T
(3) e M
4 ey g T
@awéz(aﬁww)*ﬁ%ﬁwﬁﬁmm
mmﬁwmm%’»
(1) ge-fagadl _
2) Hﬁ-rafr(ﬁuﬂ'ﬁ
3) anfﬁﬂimﬂasmaﬁa‘lﬁ
) ﬁ&sﬁaﬁ'ﬂ‘fﬁrm
ﬁ'ﬁaﬂ@ﬁmﬁaﬁﬁmﬁ
Wfagmfaﬂmanﬁﬁ%?
(1) s (2) weamaen |
(3) wearaed I (4) wyarae 1
wﬁmaﬁmﬁﬁ,ﬂq—mﬂﬂq&m%w
@1 wgrar &7
1) 2,43 (2). GA;
3) “) afye
@ﬁwﬂmw%mgﬁnﬂﬁmﬁ
aﬂﬁhﬂ?%aﬁaﬁgﬁ%mﬁmmwm
I fafy &1 AT & - s haakial
qr?
(1) ¥
(2) drE g "ICH
3) g o Al
4 wefar<
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112 How many ATP and NADPH, are required f 112 DPH
quired for NA 2
:I:w] synthesis of one molecule ?)f Glucose during ferg fonet ATP 3¢
alvin cycle? ¥? NADPH;

(1) 18 ATP and 16 NADPH, (1) 18 ATP S :g NADPH,

(2) 12 ATP and 12 NADPH, (2) 12 ATP 3l 2 NADPH,

(3), 18 ATP and 12 NADPH (3) 18 AT 1 NADPH,

(4) 12 ATP and 16 NADPH, () 12 ATP AT 16

) : fpar ¥ LTS

113  What is the role qf RNA polymerase 111 in the 13 Wz E: | m’:ﬁl’!ﬁ‘i @l @Q%?

process of transcription in Eukaryotes? I et 111 @1 1

(1) Transcription of only snRNAs
(2)~ Transcription of rRNAs (28S, 18S and

5.8S) (2) TRNA (52831’{ sfc snRNA B
(3) Transcription of tRNA, 5 srRNA and @) ENA, C o
snRNA 1)) mRNA

(@¥ Transcription of precursor of mRNA

114 g IO A G o

114 Family Fabaceae differs from Solanaceae and ded & Had _ ek
Liliaceae. With respect to the stamens, pick out faferad A & I NIRRT etk
the characteristics specific to family Fabacea® (1) dfEd = =
but not found in Solanaceae or Liliaceae. ) fagy i fersSt T Tt
&) Epiphyllous and Dithecous anthers (3) ¢ ot e gHET o
(2) Diadelphous and Dithecous anthers ) @ | 3 THH "
(3) Polyadelphous and epipetalous stamens :
(4) Monoadelphous and Monothecous anthers P —— fvreE H tﬁiﬂ'&!ﬂ 1 o fpe Rl Y T{tiiﬁiil
§ : 7
115 The process of appearance of recombination s, Reardl mé) gHILE
nodules occurs at which sub stage of prophase Q) I 4 fngz-»
* 1 in meiosis? % (3) ¥wuLe ) <
(1) Diakinesis (2) Zygotene ¢ L
(3) Pachytene (4), Diplotene > | 116 Prefifea wiwoT
. [GPP — R=NPP|
116 In thTGc::ano; 7] S, wE TR %
GPP is Gross Primary Productivity T, Fe H%I!:ﬁﬁi ¥
NPP is Net Primary Productivity o (R) 0 & ¢
R here is ; (1) W A
(1) Reproductive allocation (2) veemyes qfea fafwto
(2) Photosynthetically active radiation (3) & TS
(3) Respiratory quotient (4) y=E= TN

(4)" Respiratory loss .
117 & wa ¥ efubea = @ e ofrg fepa TX

117 The reaction centre in PS Il has an absorption B ¥?
maxima at (1) 780 nm (2) 680 nm o 5.
(1) 780 nm ¢2J 680 nm (3) 700 nm (4) GO0 TM g 3
(¥ 700 nm (4) 660 nm qarETd WHIIT I
8 iy, orgetys v § T
118 Unequivocal proof that DNA is the genetic e g !
_ weara feaw fean o1
material was first proposed by 1) fafea 8T SaR
(1) Wilkins and Franklin (2) Fefrm HIRHY
(2) Frederick Griffith ) e s g off
@) Alfred Hershey and Martha Chase (i) @ aftrraites AT i
.(4)  Avery, Macleoid and McCarthy @) ’ | Contd...
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119

120

121

{ » 122

-

123

124

Spraying of which of the following
phytohormone on juvenile conifers helps in
hastening the maturity period, that leads to early
seed production?
(1) Abscisic Acid
(2) Indole-3-butyric Acid
(3) Gibberellic Acid
(4) Zeatin
What is the function of tassels in the corn cob?
(1), To protect seeds
(2) To attract insects
(3) To trap pollen grains
(4) To disperse pollen grains
During the purification process for recombinant
DNA technology: addition of chilled ethanol
precipitates out
(1 Polysaccharides (2) RNA
(3, DNA (4) Histones
In angiosperm, the haploid, diploid and trip:loid
structures of a fertilized embry0 sa¢ sequentlally
are :
(1) Synergids, antipodals and Polar nuclei
(2) Synergids, Primary endosperm nucleus and
zygote
(3) Antipodals, synergids, and primary
* endosperm nucleus :
(4y Synergids, Zygote and Primary endosperm
nucleus
Large, colourful, fragrant flowers with nectar
are seen in :
(1) wind pollinated plants
(2). insect pollinated plants
(3) bird pollinated plants
(4) bat pollinated plants
In tissue culture experiments, leaf mesophyll
cells are put in a culture medium to form callus.
This phenomenon may be called as :
(1) Senescence
(2) Differentiation
() Dedifferentiation
(4). Development

119

120

121

122

123

124
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e ST T T gy
?Qﬂﬁﬁmmmﬁﬁmmw®1
o7 s & &7
(1) w=hifs o
@) g3 o
@) Rreaifam 9
@)

) é’ﬁﬂﬁ‘(wm

) WWW

) . CIIUES) (2) oM e

3) AT ORI

Wﬁmﬁﬁwﬁﬂﬁﬁmﬁwﬁm,

Waﬂrm&mﬁmamﬂﬂ:a?ﬁ—%ﬁ%?

(1) mﬂﬁmﬁ,qﬁaaﬁaﬁ&mﬁaﬂrgﬁu
hadblt

) Fera BT, Tt Fad Sl g

(3) s B, T T i
oy HSh

4) wﬁﬁmﬁwﬁaﬁ?mﬁﬁwﬂﬂm

E@,W,WHWW@WWW
3Q W god &7

(1) arg gaie qed

(2) @ qui I&d

(3) uell TR 9eY

(4) TGS WX 9Ed

Wéadﬂmﬂfqﬁm’mammaﬁﬂﬁ@
e < e ¥ e o % fog @
T @Y T Fel o Gl & 7
(1) wrEen
(2) fadea
(3) ffadea
(4) uf@ds
[Confd"'



125 Given below are two statements :

125 R & mow Ry my ¥ -
Statement I : The forces generated by
transpiration can lift a

] aml:ﬁﬁm%mwwwm%ﬁ
xylem-sized column of % B 130 & - 3
water over 130 meters height. T & oW : qahen
tement II : Transpiration cools leaf surfaces
sometimes 10 to 15 d

F I - At sfvaes % @ AT TRy a6y
egrees, by evaporative et wy wh

cooling,

In the light of the ab

—&N 10-15 Ry Ge1 e )
Gﬁﬁﬁﬁﬁ%ﬁwﬁ,%%&ﬁmﬁﬁﬂﬁ
l';:list /'Ppropriate answer from the options given ST :
ow
(). Statement 1 is in

(1) 99 X 7wg &
correct but Statement n
1S correct. Y

Ove statements, choose the

RASSEE L E B L i
) ml@xmﬂﬁa@t%y
@ Both Statement I ang § ' ) o T T e 11 A T ¥
c';)m‘; ement I and Statement II are (4) = 158 ¥ RIS |
3)» Both Statement | and Statement 11 are 126 < fafyera T et TR e Tt By
INcorrect,
(4) Statement | js correct but Statement Ois ® Rty # Tow o 3 ST avy
Incorrect. (1) 2002 (2) 1985
126  The historic Convention on Biological Diversity, (3) 1992 ) 1986
:th S o . . -v?
i? tﬁeﬁarthyear :umrmt Was held in Rio de Janeiro 127 wgy BT e ﬁ.@.‘{. = AR
(1) 2002 2) 1985 '
Gy 30 E4% 1936 %&g?mﬁmﬁmq\mm%m%ﬁaﬁ
127 In gep i : Y T
e I ®
metal are yseq —_— ) i @) v gy
(3 f%‘.lver ‘ (2) Copper 128 ety % IR Hizey WA % freg N
H% ) Tungsten of gola R s N Rre ST <y
128 :;:%melt and SecUmulation of jong across a THA ¥ ?U;ﬂ‘ﬁ e s W
can bera:xp?agiigj;tb;he“ “oncentration gradient ) “%q TR
(1 Active Transport. Q) T
(2) Osmosis \ 3) gung
B) Facilitateq Diffusion & e
(4) Passive Transport @) ﬁﬂiﬁq trﬁ—ng
129 Axile Placentat 129 Tl @ﬁ""?ﬁqm
(]% ina ros ‘?ﬂ 1 n?:ea:]vgdLlerll'glon (1) m %miﬁﬂﬁ ﬁ'@'{ B BB % 7
llSta.l'd, C : ’ y
() cp mse,ugg;:;se; agdLPrlerSe Q) s, g Gﬁtm
W T Mato, Dianthy s Peu;Fm (3) TS, Qg st e
130 Identify he cor Statemeng ) R, Srytiery M
g' Vores P ]'forn-l e
The hum her degraaign B0 e e -
Microl ‘ ade o /4
C. Water o ble inore < ralization, ~ SOMme g- TN i 3t e B ¥
into the (li-g ¢ Nutrientg n © I8y ST g BT 3 s sraafeg
D, Rrocess calleq | ach - Precipitateq by T ¥ R GRETr @t s 3
Th tus fooqd chalig{be i € e clbui
OEagrat?]l\j,o . gIns with living S ¥ M sradfr @1 o ¥ R Prarert e
r'msg reak d . N %l
19 Smaller Particle OWn detrityg int i Sl
: S b 0 D.  swve @ s s it el 1
Choozztab(;h?;l y focess calleq B S B G BT BT F F Taw By
given below . e answer from the Options ¥ R omwmm we ¥ )
FEED B amcay | A REE b
3 ] (8] 2 ] E]
-CD only ..(4) CDE 021§ b4 B
66 Hindis g pgy, ]

(3) ¥ B.C.D (4) ¥aw C, D, E
| Contd...
29 .



131 gHtE=
(1) Gp STFE=m b5
TS BT Sud,

replication of DNA takes

Among eukaryotes.
place in -

1) G2 phase (2) M phase
3) S phase 4> G; phase
i elow are two statements :
Lt gg;lvt?:nZnt ¥ - Endarch and exarch are the terms

d for describing the position of
lem in the plant body-
. Exarch condition he most

132
Faa I -
ey & fan=s

131

is t

often USE
secondary XX
Stgtement I
common feature of the root system.
In the light of the above statements. choose tht_?
correct answer from the options given below ° '
1) statement I is incorrect but Statement ) 8 § gz) el
is true.-
t I and Statement I1L are 3D et I afrv 99
,62{ tBru_?atah Statemen - 5 e 1 - e it
ot Statement I and Statement are
(3) 2";‘1‘; , 133 7wz BT FT oref T 7
) Statement T is correct but Statement IT is 1 = a orfares ST =it wep Tk SETT /Y wHIEad
false, wHma B !
o= S I3 qﬂﬁﬁqasqgaﬁuﬁﬁﬁﬁ(gﬂﬁaﬁq)aﬁ
£ pleiotropism refers to A
i ingl‘ccharaCten e St shrr A== =
Hear &
3D a’rqaﬁﬁa;’rwﬁaﬁ, e @ST &Y S 956 T
Cat ie-lﬂ'faa HTar =1

aeper ST =i wgda o aredr sTRT=afaadl

The phenomenon o
morethantwo nes affectingas
of several alleles of a single gene
over-
each of the two

133
1)
(2) presence ]
controlling a single cross
resence of two alleles. 1
ntrolling a single trait. i
ultiple phenotypIic -
134 Pr=faraa aJ 9
gqe=arg
stz ST Tt
afrT FRysirdeir

G) P
genes co
4)_-a single gene affecting m
" expression.
f heterosporous pteridophytes
1
&) TSI =TT
3D racfterr 3T gresitr=T
afry T7oIHTIT

4y @rETIET
amuﬁﬁﬂﬁ%‘:wﬁawmzﬁA%aﬁr

134 Identify the pair ©
among the following -
- (1) Eguwiserzrr? and Salviriic
= (2)+« Lycopodititr? and Selasirnella
(3) Selaginella and Salviric
nd Salviria
One is labelled 135 =
g HFT R &
PreaaraTs FHA A :W&aﬂﬁrwﬁmﬁiﬁmﬁaﬁ
- Fpareier g ¥
F G adl

(4) Psilorurr a
Given below are two statements :

Assertion A and the other is labelled as
Late wood has fewer xylary

eﬂ%aﬁmaﬂaﬁﬁl

Wﬂﬂﬁtﬂﬂ%ﬁlﬂ"f

wﬁaﬁwuﬁ%ﬁtﬂ'ﬂﬁ,:ﬁ%ﬁﬁwﬁﬁwﬁq’f

st gf-ieg ¢

(1 Am%mRm%u
AaﬁTRaﬁvﬁw?ﬁaﬁ—cR,Azﬁaﬁm

135

as
Reason R :
Assertion A

elements with narrow vessels-
less active in winters.
tatements, choose the

Reason R : Cambium is
In the light of the above s
correct answer from the options given below :
(1) A is false but R is truc.
(2) Both A and R are true and R is the correct 2)
explanation of A. |
but R is NOT the ) AaﬂTREﬁﬁW%‘q’{ﬁR,AaﬁﬂﬁW
_ TEY &1
4) A s T arg R 338 H =1
[ Contd..-

(3) Both A and R are true
correct explanation of A.

(43 A is true but R is false.
30
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-shaped openings
e of gases.
he season is called

k referg to
Phloem,

Phellogen is single-
Choo

layered in thickness.
S the correct answe
low -

r from the options given
(1) B ang C onl
(2)- B,
(3) A
4) AB
137 Match, List |
List |
A M Phase

With List 1y -

List 11

Proteins are
Synthesized
Inactive phage
Interval between
mitosis and
initiation of DNA
replication
Equationa]
division

from the Options givep,

L
B.

G, Phase
B8

Uiescent
stage

IL
II1.

Gl Phase

? -] ) D‘“l
138 G;

Sperms the
Sed | from

k _ the
Y air Currents,

11‘ c}l:rr S carry e Pollen grains
t rchegoni, €re the male
and pollen tube i not

e staternents, choose the
. e i i
g S falge | » toptlons 8iven b

elow -

€and R 1S the Correct

137

138

136 @& FuAl B wEEC

. . .W
A, are da & o % fow o ¥ S A
@ ¥

B. e 3 s & wh o A e o T
Tm?:;msmtﬁﬁﬁaﬁ%ﬂf'
T X W T F wad A g A

w,qﬁvﬁwmmﬂ%ﬁaﬁﬁﬁgﬁﬁ
B ¥

BT
e

S

T 9T @ oy 3y
mﬁ%ﬂamqﬁq:
(2) 3@ B, C alx E
(3) ¥=w A sk D
(4) ¥=@ A, B aix D

@I@f@ﬂ%mﬂﬁﬁﬁlﬁw:
™I

(1) A wemd
@) AskRr
4

A@TRaﬁ—.ﬁmﬁmR,Aﬁﬂﬁw
& ¥

(4) A ¥« ¥ 9Ty R o ¥

R 99 ¥
a\:ﬁ%tm&.&ﬁﬂﬁm

3)

[ Contd...



139 Match List I with List II

List 1
A. lron L
B. Zinc 1.
C. Boron 118
D. Molybdenum V.
Choose the correct answer from the opti
below :
(1) A-L B-1v, C-1. D-1I
(2) A-111, B-IL. c-l, DIV
(3) A-lL.B-III, C-1V; D-

(4) A-lIL B-I, C-1V, D-1

0 Which of the following c0

for chemiosmosis?

(1) proton pump,

synthase

membrane, proton P
ATP synthase

(3) membrane. prot

NADP synthase

4) proton pump.

synthase

14

elect

)

Main steps in t
DNA are given b
correct sequence.
A. Insertion ofre

cell.
B. Cutting of DNA at

141

f desire

restriction enzyme.
d DNA fragment.
ing P‘CR.

Isolation O
cation

rrect answer

C.
p. Amplifi

Choose the co

‘D.AC @
cABD (-

142 Which o

correct? *
(1) The amount of some
industrial wast

.. at successtv

)

organisms.
Algal bloom
matter in wa
promote fisheries.
Water hyacinth gro
eutrophic wat
imbalance in t
the water body.

3)

)

G6_Hindi+English |

on pump. proton &

elec

he formatio
elow. Arran

combinant

of gene ofin :
from the options given

ne of the following stat

s caused by ex
ter improve water qu

ws abundantly in

er bodie
he ecosystem d

List II
Synthesis of auxin

Component of
nitrate reductase
Activator of catalase

Cell elongation

and differentiation
ons given

1
]

mbinations is required
ron gradient, NADP

ump. proton gradient,

radient,

tron gradients ATP

n of Recombinant
ge these steps in @
DNA into the h_ost

specific Jocation by

terest us!

B, C. D, A
C.B,D.A
ements iS NOT

ic substances of

involved in
atter in a

cess of organic
ality and

s and leads to an
ynamics of

32

140

141

142

-clﬁg'ﬁ

at‘;r@‘%ﬂa?raaﬁsm
2t &

afy # orge
| Contd-~
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144

145

146

Geé

-

7
o ‘Hﬁ
P & fovd § m_.wﬁ fﬁm (1866)
@ Which of the following statements are correct | 143

Ryeprt T @i

about Klinefelter's Syndrome? ——— 3 Rgar am B

A.  This disorder was first describe b e F HTWF £rar ¥
Langdon Down (1866). " B. arar ufrads AT = o ¥

B. Such an individual has overall mast{uljne ‘ EECl fr BT ST Bl s S

However, the feminine C. wwifaa aire ArAfT®

development. Ho o™
development is also expressed. ; D. TR, TEHER

C.  The affected individual is short stature .1 3 . .

D. Physical, psychomotor and menta E 3 afE W Sl gfT ¢
development is retarded. S R T Rraedr d : A &t B

E. Such individuals are sterile. _ ASCE (2) %ad

Choose the correct answer from the options (D CER

given below :

| T E
() ¥mw ColeD (4) ¥ B
gafia g
144 w1 % o 1% w2

(1) A and E only (2) A and B only
() Cand D only (4) B and E only

SR
1 B)
Match List T with List II : kSl ) (@fr A 3R
List I List TI (Tt L. +(A), O(B)
(Interaction) (Species A and B) A. gEuHIEr . —(A), O(B)
A.  Mutualism L +A), O(B) B. weuifsn L +A), —B)
B.  Commensalism II. —«A), O(B) C. ooty gentaer 1L >
[ B ' +(A), +(B)
C.  Amensalism . +A), “{(Bg D. weehfar IV. (A),
D. Parasitism V. +A), + ) : —_— ,
Choosearthe correct answer from the options e A W Rt § @ | AT gﬁm
given below - (1) A-II, B, C-1V, D-II
(1) A-llL, B-L, C-Iv, D.1y (2) A-IV, B C-I, D111
(2) A-IV.BaLCLDm () A-IV, B, C-11, Dy
B AV, B, C.IL, D (4) A-IV, B-1II, C-I, Doy
4) A-lv, B-II, C-I, D-11

tatements : One is labelled | 145 T & U R ¥ % ST FIH A ¥ aix

as Assertion A and the other is labelled as T F9 R &

eason R - TUTART aY % ®q A

: - AT X ®q

Assertion A : A flower is defined ag modified ﬁﬁ R il i [{,‘Ir‘ﬂﬁ AR o v
shoot whereijp the shoot apical meristem changes il ST % Ry e o
to ﬂora]' merjstem‘ E@_ﬂ ﬁ.ﬁ-é:q ﬂ‘ —5‘1 G %l

e;son R Internode of the shoot gets T R : wdw ¥ o AP Bt e Tt
condensed t, Produce differens floral appeng Ty i
Iatera”_y At successijye nodes | o ®

instead of leayes,

OVe state Wmﬁﬁwﬁ.%m"ai” AR
s ments, chogge the gh -
et answer frop the optiong given beloyy - ped Y R & % T
i e el L
’ othAldRaretrueandRisthecorrect P Al B g , =rer '
3) ;xplanatlon of A, & ) : R, A &I 8l e
oth A ap i true but R is NOT e @) A SR 4w ¥ Ty B,
N Correct Xplanation of A TE ¥ e 1
@) Ais trye but R g false. (4) Aww ¥ ug R
How Many diffe . W B ¥ 7
t 1 i -
Consist oy Tent proteing does the ribosome 146 T=ErEm § Reay Frer ﬁf‘ -
¢l 1) 20 @& a0
(3} 20 () 80 (1) 60 @ * td...
) 60 @ 40 3) | Con
ndi+Engligh |
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147 Match List I with List IT :

A. ICszl:e};ion I l’ls?li::_elittraction in
B. Adhesion II. ;ilf?::tlfalp:?tieaction
- among water
C. tﬁ;;l:lr:;a:)c: IIL IT\';'zlt;‘rmIE:s in
D. Guttation IV. !;mcll'tur:ldctlfgli: $teo::‘\f".fards

- polar surfaces
gi\;ﬁsge?{:i\: czorrect answer from the options
(1) A-II, B-1, C-1V, D-Ill

(¥ A-1, B-1V, C-, D-11I

3) A-IV, B-III, C-II, D-I

(4) A-III, B-1, C-1V, D-l1

f’@ Match List I with List II :

List 1 List II

A. Oxidative I,- Citrate
decarboxylation / _ synthase

B. Glycolysis II. Pyruvate

dehyd

C. Oxidative 111 Elegtr;?lgenase'
phpsphoryla_tlon transport system

D. Tricarboxylic .IV. EMP pathway
acid cycle

.

N

149 Melonat

150

Choose the correct answer from the options given

below :
(1) A B-IV, C-IlI, D-I
(2) A-lL B-1V, C-11, D-I

4 (3) AL B-1v, C-I, D-1lI

W4) A, B, c-11, D-IV

e inhibits the growth of pathogenic
bacteria by inhibiting the activity of

(1) Dinitrogenase

(2y Succinic dehydrogenase

(3) Amylase

(4) Lipase

Given below are two statements : _
Statement I : Gause’s ‘Competitive Exclusion
Principle’ states that two closely related species

competing for the same resources cannot €o-
exist indefinitely and competitively inferior one

will be eliminated eventually.

Statement II : In general, carnivores are more

adversely affected by competition than

herbivores.

In the light of the above statements, choose the

correct answer from the options given below :

(1) * Statement 1 is incorrect but Statement I1
is true.

(27 Both Statement I and Statement Il are true.

3 l?clith Statement I and Statement II are
alse.

(4) Statement I is correct but Statement II is
false.

G6_Hindi+English ]

147 @Iﬂ@ﬂ%mugﬁmaﬁﬁﬁz
T 1 1

148

149

150
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A. gEsH | 74 orEen ¥ Suagd

it ATHYT

B. &S L o« sgel & €
AT ATH

C. y= T [l 7a o ¥ W ol

D. fag @@ IV, g e B S S
3 fd T faeped § @ @ I gfT

(1) AL, B, C-IV, D-III

) AL, B-IV, C-L, D-II

(3) A-IV, B, C-II, DI

(4) A, B, C-IV, D-II

@mﬁ@n%m@ﬁmaﬁﬁm:
T 1 1

A, SRR | fae fadw
E{EOCIERIREI]

B. wwawmemE 1L uEEde e

C. oneErRfa (I soEgE gfEe o
HIEHITST

D. geeEimes V. g d. aftay
el %

ﬁ%ﬁﬁnﬁﬁﬁﬁﬁ%aﬁmgﬁq:

(1) AL, B-IV, I, D-I
(2) AL, B-IV, C-II, D-I
(3) AL BV, C-L, D-III
(4) AL B-L, C-II, DIV

Wmmﬁﬂw,ﬁmmﬁaﬁ

1 ghg & A &7

(1) SEAEARES

() ariife SEEgie

(3) RN

(4) e

4 @ B A ™

FAl: TS arqaea P’ & ogEN @
ﬁaﬁﬁﬁifmmﬁmﬁmﬁa’lﬁﬁmwﬁ
mﬁﬁmﬁammma—wﬁﬁwﬁ@ﬂ
wﬁmﬁq&mmﬁaﬁﬂ:ﬁgﬁﬁa@?l
Fua 11 ; | @) g A
mﬁmmﬁa@ﬂmﬁﬁwﬁﬂzﬁ%%l

mﬁﬁmﬁ%dﬁﬁ,ﬁ%ﬁhﬁmﬁfﬁﬁﬂﬁ

3) awﬂlaﬁ'(wllaﬁmfﬂ%'l
@) asaqlaé’r%crﬁgmmllaqw%l

[ Contd.




logy : Section-A (Q. No. 1571 ¢, 185)
<y Match List I with List II.
L i

List I List 11
A Gene's’ L. B-galactosidase
B. Gene *y’ Transacetylase
C  Gene '} Permease
D. Gene ‘2’ * Repressor protein
Choose the correct answer from the Options
iven below:

(1) AdIL B-L, C-IV, D.p
) AL B, CIV, Dap
(3) AL B-III, C-IV, D
(4) AL B-IV, C-L D

152 Given below are two st
Statement I: Ligame
tissue.

Statement I1: Cartilage is dense regular tissue.

In the light of the abovye statements, choose the
correct answer from th

r € options given below:
(1 Statementis false but Statement 11 is true,
(2) Both Statement [

and Statement I are trye,
(3) Both Statement 1 ang Statement I are

(4) Statement I is true byt Statement IT s false,
133 Given below are two Statements: one is labelled

as Assertion A and the other is labelled as

Reason R.

Assertion A:

determination is

atements:

nts are denge irregular

Amniocentesig for

sex

one of the strategies of
Reproductive and Child Health Care Programme,
Reason R: B

an on amniocentesis checks
Increasing menace of female foeticide.
In the light of the aboye

Statements, choose the
correct answer from the 0

ptions given below:
(1). A is false but R is true,
d@ - Both A and R are trye and R is the correct
explanation of A

Both A and R are true an

correct explanation of A,
(4) A is true but R js false.

d R is NOT the

154 Match List I with List 1.
List 1 List II
(Type of Joint) (Found between)
A.  Cartilaginous L. Between flat
Joint skull bones
B. Ball and Il.  Between adjacent
Socket Joint vertebrae in
' vertebral column
C. Fibrous Joint I

etween carpal and
metacarpal of thumb

D. Saddle Joint v Between Humerus
and Pectoral girdle

Choose the correct answer from the options

given below:

(1) A, B-1V, C-111, D-I

(2) A1, B, C-lI, D-1v

(3 A, B-1V, C-1, D-I11

(4) A-L BV, CIN, D-II

G6__Hindi+English ]

152

153

154
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151 @lzﬁuqshnasmuﬁﬁmwm

I T 11
v L By
. T

1.

TTH W

V.
T fomed ¥ ¥ wh H GG & |
(1) A-IIL, B, Cqv, pg

2) Al B-I, C-IV, D-111

(3) AL, B-I, C1v, D

4) A-II1, B-1v, C-I, D-11

R & o R ¥

FE 1 Ty v aifrfg Tah
L sy v Prafirg waes 3

wﬁmmﬁ%mﬂﬁﬁﬁﬁqwﬁaﬁﬁ%w
ST @B 999 & |

¥

i

FooFF
CEEE L

I o ¥
4) T LT ¥ W w10 oree 3

ﬁﬁ%ﬂmmﬁ&ﬂ&%:qmaﬁmMA%mm
R %1
mmA:ﬁnﬁW%mmﬁmmqﬁw

wﬂwmﬂ%mmﬁ.%ﬁqmﬁmﬁﬁ
SRR TR B T B

(1) A 9EW ¥ 36T R @ 3
(2) AT R v & wg R

s A &t W e 3
(3) ;@Rtﬁm%q&k,Aﬁaﬁ@w#@f
|
4) A T T e R s 3
@lﬁ@ﬂ%m&@‘hwﬁl
R T
(5 = ) (% 7 wran s %)
A. STy L o9 sym oftugy
H %mw_ ¥ &
S -G (1o o S ) SR
. E Freadl Hsroma
% Ty
. II. & % wrda aft
C. 3w dfy I er-:[%i iy il
: Iv. Td 3|
B, ﬁgaaﬁz ﬂﬁﬁq‘m

1) Adl, B-1V, C-III, D-I
%2; A-III, B-I, C-II, D-IV L
(3) A-llL, BV, C-1, D-Ill -~
(4) A-l, B-IV, C-III, D-lI
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Gﬁ_HindHEnglish 1

Given below are two statements:
Statement I: Vas deferens receives a duct from
seminal vesicle and opens into urethra as the
ejaculatory duct. ) ;
Statement IT: The cavity of the cervix is called
cervical canal which along with vagina forms
birth canal.
In the light of the above statements, choose the
correct answer from the options given below:
(1) Statement I incorrect but Statement II is
true.
) Both Statement I and Statement II are
true.
(3) Both Statement I and Statement II are
false.
(4) Statement I is correct but Statement II is

. false.

Which one of the following techniques does not

serve the purpose of early diagnosis of a disease

for its early treatment?

(p Enzyme Linked Immuno-Sorbent Assay

(ELISA) technique

(2) Recombinant DNA Technology

(3) Serum and Urine analysis

(4) Polymerase Chain Reaction (PCR)
technique

Which one of the following common sexually
transmitted diseases is completely curable when
detected early and treated properly?

(1) HIV Infection (2) Genital herpes

(3) Gonorrhoea (4) Hepatitis-B

Which of the following is not a cloning vector?

(1) Probe (2) BAC
(3) YAC (&) pBR322 .
Match List I with List IL

List 1 List I 4,
A. CCK . Kidney
B. GIP /l. Heart
C. ANF.- III. Gastric gland
D. ADH .~ IV. Pancreas

Choose the correct answer from the options
given below:
(1) A-1V, B-Il, C-IlI, D-I
) A-1V, B-llI; C-11; D-1
(3) A-lII, B-II, C-1V, D-1
« (4) A-ll, B-1V, C-I, D-II

Which of the following are NOT considered as
the part of endomembrane system?

A. Mitochondria cu V¥

B.  Endoplasmic Reticulume

KX Chioroplasts S A\
Golgi complex o Q,(’\L

E.  Peroxisomes «

Choose the most a i I
((){);i{"}f given belml:l‘]mpnate sever from the
) A, D and E only (2 '
A y ( ) Band D onl
) A, Cand E only (4) A and D onli

36

155

156

157

158

159

160

|

Y @ waa kg @ E

F I: gFaTEs SN & T A T He §
A e ¥ e A & €9 F g &)
Fum 1: aRfFs @ qe1 B arewa T Bed ¥
Dy ¥ @ s | a8
Waﬁ%wwﬁ,%mmﬁmﬁﬁw
T B TGT B

(1) T 1 oaq & ateT &9 18 ¥

(2) @i wu [ o 1 & ¥

(3) A wo [ od 1 @ ¢

(4) w1 1w ¥ e o I o &

et § A A TS TH T B TS ITER

Ry yrifte e & Swartt T8 7

(1) Usigw wew wicen o ST ()
(2) gﬂﬂﬂﬁiﬂwu“m’lﬁaﬁ

(3) @ wd o fagew

(4) et 39 Rogee (@) @ S

fp & 4 @ § amrg 9 g9t T @ Al aw
TAT 1 ST ST I Sieb o ITATK € WY A ok
3 O gEd & 7

(1) vaendd g (2) s giEd

(3) g& (4) TFama-B
firg A Q PN FART GaTED TE & 7
(1) v (2) BAC
“(3) YAC (4) pBR322
w1 & gh 1 & @ gafea a0
g1 ™
A. S . g%
B. wiemsd 1. &9
C. UG M. wet 1y
D. tdiwg IV. s
49 fou o famed ¥ A w8 ST & 9 B

(1) A-1V, B, C-ll1l, D-1

2) A-1V, B-III, C-II, D-I

(3) A-II, B-11, C-1V, D-I

(4) A-IL, B-IV, C-I, D-II

Preq % A 1 T o7 Refewrt a3 1 W T WM I
4

A.  GIHTEH

B. fasedl wifer

C. FIWRE

D. el GiFg

E. uwadEd

i el @ wad SRE ST &1 9Ed &

(1) %a@ A, D E (2) ®%aw Bwd D
(3) %9 A, CTI E (4) %aw Awd D

[ Contd...




1 Match List I with List 1L
16 List I

161
Listhlld

; - Nephridia -
Q' gziiﬁoecium.~ Il ol:ntractile Vacuole
C. Periplancia L Flame cells
D.. Pheretima - Urecoge glapd £
Choose the correct ansyyer trom the optiong give
below:

A‘H, B'l, C‘wa D"I:“-

P Anal oy
(3) AL, B, C-IV, Dany
@ A, BL, ¢ ;
162 Once the‘undigested and Unabsorheq Substangeg
enter the caecum, thejr backflow is Prevented by-

(1) Pyloric Sphincter

~(2) Sphincter of Oddi

€0 - caeca] valve
4) Gastrg -

Oesophagea| Sphincter
163 Match List ¥ with List 11 with Tespect to human
ye.
List { List 11
Fovea L v

dlameter of
1L,

Connectiye tissue,

. _ List [y
Leong s(;l)ecles) (Name of lnteraction)
. “oPard anq , L Competition -
NN  f grasslang >
Cl_xckoo layin

S 11, Brood
nes e « -

Ungi root Ofahigher 1 parasmsm

" Plant i Mycor:

IMtizae » Vutualigmy,

A cattle Cgret 5 v, Commensa‘lism &

Ch ttlemaﬁe[d * 9 A % il T B

00se e ¢ H \ |

ven ok, Orrect answer from the Options R I,;Q Et‘ﬁfﬁc-l, D_Il\\,!

() A B, ¢, py W i Gl DY .
M AL Ry C-IIL, Dy & AT A | Cont
.,}z) B Cay (4) AL BV,

) A4y, BV, ¢, D-11
GﬁjlindHEnglish ]
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165 Which of the following statements are correct

166

167

168

G6_Hindi+English |

regarding female reproductive cycle?
A. In non-primate mammals cyclical changes
during reproduction are called oestrus cycle.
?. !-'lrst menstrual cycle begins at puberty and
is called menopause.
C. Lack of menstruation may be indicative of
pregnancy.
D. Cyclic menstruation extends between
menarche and menopause.
Choose the most appropriate answer from the

options given below:

. {1)y A, C and D only

A and D only

3)xA and B only

(4)xA,Band C only
Given below are two statements:
Statement I: Low temperature preserves the
enzyme in a temporarily inactive state whereas
high temperature destroys enzymatic activity
because proteins are denatured by heat.
Statement II: When the inhibitor closely
resembles the substrate in its molecular structure
and inhibits the activity of the enzyme, it is
known as competitive inhibitor.
In the light of the above statements, choose the
correct answer from the options given below:
(1) Statement I is false but Statement II is

true.
(2) Both Statement I

true.
(37 Both Statement

false.
(4) Statement I is true bu

false.
Radial symmetry is NOT fo
phylum
(1) Echinoderm
(3) Hemichordata

Match List I with List IL
List I

A. Vasectomy. L,
B. Coitus ~ L

interruptus ~_
C. Cervical cam\\ Surgical method
D. Saheli V. Natural method

from the options

and Statement II are
I and Statement II are

t Statement 1I is

und in adults of

'ata (2) Ctenophora
(4) Coelenterata

List 11
Oral method
Barrier method

Choose the correct answer
given below:
X1) A-lV, B-lI, C-l, D-lIl
_ () AL B-1, C-1V, D-1I
A-111, B-1V, C-11, D-
(4) A-11, B-111, C-1, D-IV

165

166

167

168
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Ry & @ WG o 9 & a9d § B W B g

L

A. h—mﬁzﬁwﬁiwﬁﬁwﬁmm
sl @ TEE 9 FeEd ¢

B. Wﬂ@ﬁﬁﬁmﬂgﬁﬁmgm
wifafs wea ¥

C. ﬁaﬁ#wﬁuﬁlmﬁma&mg,
aﬂﬂm@ﬂﬂﬁﬁh%ﬁﬁ?ﬁmﬁm%,

D.

3 g g fraredt & & Fd IR I H TG F)
(1) ¥a@ A, C@@D

(2) Hew AT D

(3) ¥aa AT B

4) %@ A, Bw@C

ﬁﬁﬁlﬁm%?ﬂsﬁgﬁmﬂiﬁﬁmm%!
mﬁmﬁ%m&rﬁ%ﬁqwﬁﬁﬁi%m
FaT @ 99 Bl

) awlm%ﬁ%ﬂmﬂw%i

) 2w 1 wd 1L & &

3) 2 % 1 v 11 o &

4) mlm%ﬁ?ﬂmﬂm%;

(1) TwEAEIa (2) &
(3) ¥ (4) e
qﬁlas"r@llasmugﬁﬁﬁarm

T 1 T I
A, QFETED SBE I e e a f
g smwm L Qu fafa
c. efera tan 2l 1. greabear faf
D. @ v, Wt
ﬁaﬁqwﬁmﬁﬁéaﬂwwlwﬁﬁ'

(1) A-1V, B-II, C-l, D-Ill
2) A-lll, B-l, c-1v, D-1I
3) A-llI, B-1V, c-ll, D-1
“4) A-ll, B-11I, C-l, D-IV
[ Contd-



169 Match List | with List 1.
List I

169 -@.13}1@11%31!1%*3‘
Lsi:t nt. " ?ﬁhi;mﬁ) (Bram)
s cretio s . m
A. %E;::c)cells. L gri_uct}s_ A. e w IH = =
B. Goblet celjg I Bile juice . B. =ww it UL e T
C. Oxyntic cells 1. Proenzyme Pepsinogen ¢ G‘Tﬁl‘ﬂﬁaﬁ - AR
D. Hepatic ce||g IV. HCl and Intrinsic factor aﬁﬁ&mq_ et .
' vfor ab.sogtion of D. fedfre V. Tadaw gq x
Choose the Correct ans\;::a;-mgom %he Options BT "R R %‘z
given below:- A= W
A-IL By, o, D-i1. o
8% AV, B, ¢y, g M Ry wy &
3) AL B.T, ¢y DIV, () A, By, C-L, D1
:}A')" A, B, C-IV, Dy AV, B, C iy py
170 In which blood COTpuscles, the HIV unge oes 3 Aﬁ';ll,l Bél’l C;ITI{, D[;E};
lication and Produceg Progeny Virusesg? A A Mo el
s Eosinophils cells 170 @ & I Hitverayy TSR
0sino
@ B YMmphocyt (4) Bgsophils A wafy f‘q-qm ﬁg‘ HE B ?
Vital cap, ity of lung g ve = Q)) R ¥ @ T
1) IRV + Epy 3 -y ¥ 4
Ez; RV + ERy ) B X “
A3) IRy + V+ TV 4 Ry 1m iﬁtﬁ%ﬁﬁa?ﬂﬂm%‘
M7 IRV + ERy TV — Ry (1) m+§m+ﬁé\
172 Given belgy, tWO statements %) AT Ty
tement Protein ig Magineq 5 , line G) e + o + A 4+
the left Dresentgd by first amino i ) Hﬁm * ﬁ\'ﬂ'ﬂ‘ch
“termina]) © right eng Tepresenteq by | 172 N & B Ry ¥
ast aming (N terrnmal) W 1.
Statemeng 1y, Adult hgps, haemoglop MR L | S HEEY
Consists of 4 Subunitg ( Ubunjt o ; E‘;‘“ W T Ty IR
and Ubunits of ) e S TR (-
In the J; tof the aboy temens, chooge h FR 1. T Lipe
(c ;))mc o from lons giye below: ® o fam 5 s TR
et S S o Vo
ent I ap, tat;
( Statemen y and Stat:nl?:t?ttlrll e E?I puk il
(4) Stagen reme are fa)ge, )z ¢ ST ¥ Ay
Ment | IS trye but State tTN ?
3 Given ey, SIS fage, ) T e | T g ¥
sse ! %St‘;’e o ¢ I8 labelieg ((i)) T F T e ¥,
Reason R abelleq as TR | T %
Assert : 173 _
implantauon f b) :gg;;‘t S necessary f #'R%%? R & ™
ﬁ:;::: - :bsencé: lllzation the s m; 5[“55&% S % frg s
: €gener teg ? Weves %) .
1 t : wH
nsg:zel on of Ndomegy;,, _ “ag T R: P B IuRafy ¥ dr 23% 3
it of S 3bove sia W%MWWWWW EE
Co ot fro e_ments, chDOSe the ] 3 fae o Rl
(1) A is false bigt Rt?se t;‘»ptlons given below: WE E@“_\m_{rﬁ Ew( i :q:w%‘ .
2 ue,

9 BmhAand ®aNd R g e (1) AW%WR@R%LﬁHﬁwt!
ﬁ) explanatlon of Correct 2 A Td R 241 O % q?R:A &1 T2 e TE
’ E’Oth Aan R are true by R s NOT the @) AR v ¥ o
@ Amjrec:t explanatipn of A, ¥ % e st

1S trye but R i false, 4) As=™ :

[ Con td...
39
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176

177 Given below

174 Select the correct grou

Marsupials exhibitinggad:1|:F:t/i5;*e;:t rggi;:iusnahan
(1) Lemur, Anteater, Wolf o

(2) Tasmanian wolf, Bobcat, Marsupial mole
(3) Numbat, Spotted cuscus, Flying phalan
(&~ Mole, Flying sc‘;uirrel, Tasmanian tiger %z:

Match List I with List IL

List I List IT
A. Heroin I. Effect on
B. Marijuana -~ IL g?;ﬂodvc?;iull:gdsyf? ot
C. Cocaine , I Painkiller TG
D. MorphineZ  IV. Interfere with transport of
dopamine

Choose the correct answer from the options

given below:
AL B-1V, C-I, D-IT »

(1)
(2) AL B, C-1V, D-1II
(3) A-L B-1I, C-1II, D-IV
@) A-IV, B-IL C-II, D-I
Match List T with List II.
List I List IT
A. Ringworm [ Haemophilus :‘nﬂuenzaé
B. Filariasis\_ L. Trichophyton
C. Malaria HL Wuchereria bancrofti

V. Plasmodium vivax

D. Pneumonia
answer from the options

Choose the correct
given below:
(1) A-lI B-II, C-1V, D-1
23 AL B C-IV, DA
3) A-L B-1It, C-I, D-IV
4) A-l, B-1I, C-1, D-IV
are two statements:

Statement I: Electrostatic precipi

widely used in thermal power plant.

Statement II: Electrostatic precipitator in
thermal power plant removes ionising radiations

In the light of the above statements, choose the
most appropriate answer from the options given

below:

(1) Statement 1inc
correct.

(2) Both Statement I an
correct.

(3)\/.Both Statement I and Sta
incorrect.

(9 Statement 1 is correct but Sta
incorrect.

tator is most

orrect but Statement 11 is
d Statement II are
tement II are

tement II is
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174

175

176

177

Sy Rrary @@ amefia fagearh &
Hﬁags/ﬁzmameam
) ar, drdErt, Ak
() e A, dadhe, fugar H
3) qﬁz,mm,m—%ﬁw
4 ‘flﬁ.ﬁsﬂﬁmﬁf,mﬁmﬁmh

@Iﬂ@ll%mﬂgﬁﬁiﬁﬁ|
g 1 _ T 10
A. et [ &% arsd o 9 UHE
B. #Aftgam I orfx & vt B
g s
C. b 1. <EfEr®
D. HihA

V. S % aftasd d e
ﬁ%ﬁqnt{ﬁwﬁr@raﬁwwwarm‘
A-1II, B-1V, C-1, D-1l

(D
(2) A-llL Bl C-1V, D-lII
@3) AL, B-IL, C-IL, D-IV
(4) A-1V, B, C-II, D-1
o [ g 11 & e gk w7
T 1 o
A. fod L. feaa sega
B. wEaiaE . zE®IwET
C. wefed nL gRRar dpwETE
p. fmifE V. T aEaR

ﬁqwﬁaﬁq’fﬁ'ﬁaﬂwmwﬂl
A-II1, B-IL, C-1v, D-1
A-I1, B-IIl, C-1v, D-1

E1E]
(1)

(2)
(3) A-lL, B C-l, D1V
4) A-lL B-IL, c-1, D-IV

&;ﬁsmaﬁm%l
s B & TR
Fa @1 Tad &
(1) @A 1A
@) o w1 e I
(3) amr F1

(4)

ff:ﬂaﬁqm%ﬁﬂ’fﬁéaﬂ

%a’fﬁﬁﬂsmnﬂm%l
g &l



Given below are statements: one is labelled as
178 Assertion A anpg th

178 9@ 2 wom RA m %

UH AMEREA A eI
R ¥\
& Juxta medullary,

A R ST e '0:; i ¥
% \ STpd eErn
% MU T D wowe T
based on their relative %‘ e \
sition in cortex ang medulla. T sz i
PROeason R: Juxta medullary nephrong have short
loop of Henle wherea,

S, cortical nephrong have
100p of Heple.

::nie: lighI: of the aboye s-.tatemen'cs3 choose the
correct answer from the OPtions given below-
(1) A s false but R g true. . '

(2) Both Aand R are true and R g the correct

explanation of A

(3) Both A and R are true

:mqmtmw_aﬁﬁ%ﬁmmﬁm
?ﬂ?;‘mﬁsmwﬁﬁmﬁxﬁmm
| B
%mﬁ%mmﬁ,%hmmﬁ%

: ST W wm wmiy)
4)) Am%mnm%\
m .

ATE R 29w ¥ s R, A o o\ =avem 3,
but R is NOT the AWRMW%@&Aﬁmwﬁ
u is
‘ -
correct explanation of A
A is true byt R is false.
179  Which of the follow

ing functions 1 carried out
by cytoskeleton in 5 cell?
(1) Transportation

(2) Nuclear division -

BTt WA 7rey
TR ¥ 7
(1) e
() Protein synthesig E’é m'q?ﬂmm
4 Motility SN T
. R
180 Broad palm with single palm Crease is visible ip

& person suffering from-
m Thalassemiq

(2) Down’g Syndrome
() Turner’s Syndrome,
4) Klinefelter’s Syndrome

A
Q) =ww fw
Q) = .
18f Given below are two Statements: m R g
Statemeng I: In prokaryotes, the POsitivel N
Charged DNA i held with SOme Negative) 181 £ ¢
harged proteing in a Tegion calle Nucleoig ‘2ﬁ1 m R e ST g
tement 1y ukaryotes, the Negative) o FRRE Frdsy
Charged DN 1S Wrappe around the Positive)
Charged histone ¢ °r to form p
€ light of he a

Statements,
NSwer frg
(1)

€ Options gj
tatement Lincory
tru

Ven below:-
€t but Stat
€.

ement 1Y ig
Both Statement I and Stat,
true

tment 1Y are
3) Boty State

f'ﬁﬁ“ﬂ
HUA B W ¥, R fag g
false,

Rl R R o

%l
ad
FA | g ¥ dfes w1
ment | and Statement 11 are

4) Statement y i

: £ 4
w
2 Soaals @- 1111 @ ¥ (4
3) i w1 o —
; ¥ e
correct but Statement 1 is 4) = 1§
alse,
Gﬁ_lﬁndimngnsh \
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182 Match List I with List II.

183

184

185

List 1 List 1T
A. P - wave I.  Beginning of systole
B. Q - wave II. Repolarisation .of

ventricles

C. QRS complex III. Depolarisation of atria

D. T - wave IV. Depolarisation of
ventricles
Choose the correct answer from the options

given below:

(1) A-I, B-II, C-IlI, D-IV

(2) A-lI, B-1, C-1V, D-II
A-1V, B-1II, C-1I, D-I

(4) A-I, B-1V, C-1, D-IIT

Which of the following statements is correct?

(1) Algal Bloom decreases fish mortality

2) Eutrophication refers to increase in
domestic sewage and waste water in lakes.

(€)% Biomagnification refers to increase in
concentration of the toxicant at successive
trophic levels.

(4) Presence of large amount of nutrients in
water restricts ‘Algal Bloom’

Given below are two statements:
Statement I: RNA mutates at a faster rate.
Statement II: Viruses having RNA genome and
shorter life span mutate and evolve faster.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Statement I false but Statement I is true.
@Y Both Statement I and Statement II are

true.
(3) Both Statement I and Statement II are

false.
\CA'{ Statement I is true but Statement II is

false.

Which one of the following symbols represents
mating between relatives in human pedigree

analysis?

ocomee o[ 1—O

=0 ® I
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182 ¥ I & ot I & g gafea =41

183

184

185

T 1 w1
A. P-a I 9599 & ey
B. Q-ain I Pl @ srgaw
C. QRSdfws I afvid & e
D. T-atn IV. el & fayge
4 e o Rreedl § ¥ @ S @ wE W

(1) A-l, B-II, C-III, D-IV
(2) A, B, C-1V, D-I
(3) A-IV, B-III, C-II, D-I
(4) A-IL B-IV, C-I, D-II

fr & & B |1 B G R

dramer wegen wBfel & AT @ b #)
T e W Od He ¥ 9l 79 @ g
¢ I &l

S el &1 we v QYT WL AT S
2 wizan & ghg & & §

o & FTH W A G e S WG
&I aar i

(1
2

3)

(C))

99 & Fo R W E -
Faq I: STUAT SEmga dig & ¥ Safafid e

4 .
o 11 SITTAT SN Td B e i ar fomy

e & safaERia wd e @ T

e sl % wan §, 2 g g e 3
T I & TG B

(1) e 1 o ¥ dfed o 1 & 21

() @ F [ g & ¢

@) @i 1 d 1T o 2

(4) F 1 9 ¥ afeT w11 o B

ﬁﬁmﬁ&mﬁﬁaﬂwﬁm’ﬁmmﬁmﬁ
% & Ay F Prefig B E 7

omee o 10

(4).

¢ [0
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TAIETL, IASAT oy
rain that helps in regulation ‘ 186 umg qfﬁ‘ﬁss;ﬂ ALl 1%“5 P Rt
f sexual behaviour, expression of excitement, Attt g, E{’BT._ TR 1 Prisroy
4 o[easure-, rage, fear etc. are - (1) =ndg : T A :
p” Corpus callosum ang thalamusg (2) TofEs o A TR
(2) Limbic system & hypothalamus 3) = TR 15y Laieo
23) Corpora Quadrigeming & hippocampus @) =faes wy M Ry
(4) Brain stem & epithalamyg 187 - @ _q’_f:
ist I with Lis¢ py TN T™ )
18 Matcl} List ; . " |
t1 List 11 A. Wu-w ofg SR S
/ t:gis(ic Unlimited resource N U B
- growth : availability condition TR ' 8
tial /|1, Limited resource I Afm wees _
b E;,p:tfn = availability condition - B wumh T ST oY \';1:!'(%1!
ding 1. The percent individuals L. s g
¢ aEx: ap“:,rr:::*nid of pre-reproductive C. =i ang, et ol N W
. age is largest followed : R 2
"~ by reproductive and D —
POst reproductijve E;I'E[ 4 -
i ettt g -
. Stable age IV. The percent individuals
b pyramid ¢ pre—reprodl:lcti\?ﬂs D. fex g I\A W‘F{t{& ASEE R
and reproductive age e Y = ¥ Ei\co
group are same £ “ﬁm T
Choose the correct answer from the Options 3
given below: 3 ﬁQ‘N,ﬁ X ¥y T e T
() AL By, C-lI, D M AL BAV, CAIL, Dy
«@ AL B, cq, py ® AL By CIN, Doy
(3) A, B-II1, C-L, Dy ke, >
@ AT BV, ) p oo AL B, ¢y
e @ Aq, By C, Dy
188 Which‘ of the following Statements are correct? !
A An excesgiye 1055 of body fiq from the | 188 Freiag XA} ®E T ¥ 7
body switches off OSmoreceptorg © T st TR 7 w1 w0 e
B. Apy facilitateg water reahg e T BT A T
Orption fo N
Prevent diuresig. B. Wy I DY Y e vt % g
g Causeg Vasodilatiop £ T™ 9w 3y .
D. Apy Causes increage In blogg Pressure o C. o Bl ﬁ‘ﬂ?rrm T %
E. 'S Tesponsib)e fo fease in GFR D. www = o ¥ SeEl & .
Choose ¢, # wh ¥ Ry sad
rrect answer from 1, ' E.  wdum S ——
: oo TR R T R _ .
() C, andE()n]y (1) WC,D@E :
(2)AandBonl % 2), ¥aw ATd B
y (2), s . e
3 B, and D onl 3) %-q-ﬁ B, CQE\: °
4) A, B ang E only , (4) waw A, B u®
ﬁhHind1+Eng|ish \
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189 Select the correct statements with reference to

190

191

192

chordates.

A. Presence of a mid-dorsal, solid and double
nerve cord. Ty

Presence of closed circulatory system

B.
C. Presence of paired pharyngeal glllsllts
D. Presence of dorsal heart 0

E. Triploblastic pseudocoelomate animals.
Choose the correct answer from the Optlons
given below: £

(1) C, D and E only .“:

(2) A, C and D only

(3) B and C only
(4) B, D and E only

Which of the following is characteristic. feature
of cockroach regarding sexual dlmorphlsm ?

(1) Presence of anal cerci
(2) Dark brown body colour and anal cercn

£3Y Presence of anal styles

(4) Presence of sclerites

Given below are two statements:
Statement I: During G phase of cell cycle the

cell is metabolically inactive.
Statement II: The centrosome undergoes

duplication during S phase of interphase..
In the light of the above statements, ch,ogse the
most appropriafe answer from the optlons gwen

below:
ar Statement I is incorrect but Statement II

is correct.
(2) Both Statement I and Statement II are

correct.
Both Statement I and Statement ‘I are

3)
incorrect.

(4) Statement I is correct but Statement II is
incorrect. L

Which of the following are NOT under the

control of thyroid hormone?
Maintenance of water and electrolyte

A.
balance
B. Regulation of basal metabolic rate
C. Normal rhythm of sleep-wake cycle
D. Development of immune system
E. Support the process of R.B.Cs formation

Choose the correct answer from the OPIIODS
given below:

(1) D and E only
(3) B and C only

(2) A and D only
(4) C and D only
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189 #EA & wod 4 wdl HUA B T 7y,

190

191

192

A. TE-—ydg, 319 ud el |
B. wmmﬁw@ﬁwaﬁm
C. wad ¥ ghaa aim fodl ) sufemy

D. Y= &g H SuRgfy

E. Paifte, g2 1@ gmh

A g o famed ¥ ¥ P s B
(1) ¥a@ C, D uwa E

(2) %99 A, Cwd D

(3) %aw@ Busd C

(4) ¥a@ B, D ud E

]

ﬁwﬁﬁaﬁaﬁﬁmaﬁéﬁamwmm
g ¥ 7

(1) 78T §@ & suigfy

(2) TEQ U R B AT T 1T

(3) TET @ @ wufafa

(4) o B IuRgfy

D & Hyq g o ¥ -

4 I: BT 9% B G, oreran & Sy sured
wq & Fifera &l %)

Fo I: YW stauazan &l S wraen ¥ faq s
.1

Sudad HyHl & wepieT 7, Hrer fw T fawedl 4 4 @
SO &1 999 B

(1) w97 I o & AfeT wa= 11 & ¥

(2) S a1 T I 9 ¥

(3) < wu I g II o ¥l

(4) wuw 19 ¥ A Fa= 11 @ 2

A
B. amurde surgedr g &1 FEE
C. |- & 9% @ gErd T4l
D. wfywen d &1 fa@E|
E. mﬁﬁﬁﬁ#mﬁﬁmﬁﬁm'
S R g Rt F & wh g B aE B0
(1) ¥aw DTd E (2) %@ ATd D
3) da@ BTG C (4) daw CTW@ D
[ Contd.-



Which one of the following is the sequence on
corresponding coding Strand, if the sequence on
mRNA formed is as follows )

5 AUCGAUCGAUCGAUCGAUCG AUCG
AUCG 3°?

(1) 3’ ATCGATCG ATCGATCGATCG

ATCGATCG 5°
)

5" UAGCUAGCU
GCUAGC UAGC

(%g}

“4)

93

%‘GCUAGCUA

3° UAGCUAGCUAGCUAGCUA
GCUAGCUAGC 5°

52 ATCGATCGATCGATCGATCG
ATCGATCG 3°

194 The unique mammalij

193 ot =% 5o mRNA =

w9 A R e ¥
02 AUCGAUCGAUCGAUCGAUCG AUCG
AUCG 3’, a5 Pt & wif T &1 wH
T 3 ATCGATCGATCGATCGATCG
& ATCGATCG 5°
“2) 5’ UAGCUAGCUAGCUAGCUA
{22 GCUAGC UAGC 3°
+(3) 3" UAGCUAGCUAGCUAGCUA
GCUAGCUAGC 5°
(4) 5’ ATCGATCGATCG

ATCGATCG
ATCGATCG 3°
an characteristics are: 23 A ; ;
(1) pinna, monocondylic skull and mammary | 194 t_ﬁ'ﬁ 0 Tafreeary g T H‘:’t ¥ 2 :
glands (1) Fiues, Sttt saw T wm Wi
(2) 1-|=la.irs::i tympanic membrane and mammary .-“]FEQ) U, w9 qew e Td W Ut
glands . CB) W, woiuwa ws w= it '
(3 hairs, pinna and mammary glands . . - Foluea Ud otweE s
(4) hairs, pinna and indirect development "(“,_’) ™, L
195 Which one of the following is NOT an advantage | 195 e & @ BT SIS BT W Y % ?
of inbreeding? : b(l) e s % SIE e AT T o)
(1) It decreases fzhe productivity of inbred SUERAT HH HLy =)
population, after continuous inbreeding, (2) =& SIg=ar B wy BT X
(2) It decreases homozygosity. ey TR T St
(3) It exposes harmful recessive genes that are \§3) a® B ST _"iE‘E[ B W
eliminated by selection. ' S TR B Pt feg wmy ¥
(4) Elimination of less desirable genes and H(4)  TH B BN aiwiy S B Prewem wy
accumulation of superior genes takes place 5y I Bee ¥ o=y B HEEE B 3
due to it. - .
: ; 196 T ¥ ¥ oW ¥ wuw = 22
1 Which of the following statements are correct ? . A YeERes ’ .
L% A. Basophils are most abundant cells of the i’A X I SR D T e B
total WBCs : prea
B.  Basophils secrete histamine, serotonin and B. <difrw feetfm, Rdatem oS RTE & am
heparin g BTA B
C. Basophils are involved in inflammatory "C. YaTew sherd whfemett & aiafaa s &1
sesponse - ‘D, e ¥ b H HAHT BT HH €l B
D. Basophils have Kidney shaped nucleusw Wb, EVIS
E. Basophils are agranuiocytes "B YuRe st
Choose the correct answer from the options LR
given below:

(1)r A and B only ( and E only
(3) Cand E only and C only
197  Select the correct statements.

A. Tetrad formation i

- S seen during Leptotene.

B. During Anaphase, the centromeres split and
chromatids separate. o

C. Terminalization takes place during
Pachytene.

D.  Nucleolus, Golgi complex and ER are
reformed during Telophase.

E.

i ister
Crossing over takes place between sc?r:?:
chromatids of homologous chromo

tions
Choose the correct answer from the op
given below:

(1) B and E only

(2) A and C only
(3) B and D only

(4) A, C and E onlY
G6_Hindi+English ]

R T et & @ wh e @ g w4

(2) ¥aw D E
(@3) %@ Cud E

4) wmw B C

¥l

LB e 1:[5,11 € ¥ -
& N X e
fp tﬂﬁr?'f TWS"@E’& s
— gl @

E. a;&raﬁ“‘?éaﬂﬁﬁﬂ;f*?és
bt ﬁqﬂwg @) gt A e
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198

199

200
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2y A and E only

In cockroach, excretion is brought about by-
_ Phallic gland B. Urecose gland ’
c. Nephrocytes D. Fat body ‘
E. Collaterial glands
Choose the correct answer from the options

given below:
(1) B and D only

(3) A, B and E only
(4) B, C and D only

Match List I with List II.

List 1 List II
A. Mast cells I.  Ciliated epithelium
Areolar

B. Inner surface _II
3

of bronchiole connective tissue

Cuboidal epithelium

C. Blood _ L
D. Tubular pans\I’\& specialised
of nephron connective tissue

Choose the correct answer from the options give

below:
(1) A-IIL B-1V, C-II, D-1

@) A-L B, C-1V, D-111
(3) A-IL B-I, C-I, D-IV .
4) A-IL B-l, C-IV, D-III

Which of the following statements are correct
regarding skeletal muscle?

A. Muscle bundles are held together by
collagenous connective tissue layer called
fascicle.

Sarcoplasmic reticulum of muscle fibr
a store house of calcium ions.
Striated appearance of skeletal muscle fibre
is due to distribution pattern- of actin and

e is

myosin proteins.
M line is considered as functional unit of

contraction called sarcomere.
Choose the most appropriate answer from the
options given below:
(1) C and D only
(2) A, B and C only
(3) B and C only

D.

(4) A, C and D only
46

198 ez & Swe . % &T R 3

A, s wfu B. g ufy

C. “wEEg D. =& fis

E. sauws uigal

Hi fag g Rl F ¥ SRE SR @ T a5y,
(1) ¥gs@ BT D

(2) %aw ATd E

(3) %aw A, BTIE
(4) %aw B,C T D

199 & I &t @ 1 & a1y gifea a0

T I @
A, R Ffy@ed 1 el sysa
B. sqafiar & 1. et gk
Fiaftd ade IqB
C. T III. ©ATRIT YT
D. gFHME @ Iv. fafire dar o0&
eI |
I foo o et ¥ § W ST H 999 F4

(1) A, B-IV, C-II, D-I
2) AL, B-II, C-IV, D-II
(3) AL, BIL, C-I, DIV
(4) AL, B, C-IV, D-III

200 W&sﬁ%ﬁmﬂ'aﬁaﬁmmqﬁ%’?

A. ot s BT G S A T A
& & frd dugz oed ¥

B. &sﬁ@mmwwm
&1 HeTT € &l

C. mwwmmm@mﬁ“
B

D. w%maﬁwﬁwwwm
3 frd arifiaT wed £l

a3 P g P @ e S B T T

(1) %aw Cqd D

(2) ¥aw A, BT C

(3) %A@ BT C

@) ®ada A, C uqg D
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